UGC NET 2021 Visual Art

Topic:- VisualArt_SHAAN_NOV21A

1) Recently Buddhist monastery dating to the Kushana period was excavated at Mes Aynak. Where is this site located?

BIcT 3 A IRIGID I BUIVI DIcT DI TP dlg fIBR Icxdolol d Bien 3 A8 Fera @i Rea 3 ?

[Question ID = 527][Question Description = S2_qSNz_PG_VIS_Q01]
Afghanistam/smwenforzamet [Option ID = 2105]

Pakistan/uifdsarer [Option ID = 2106]

Uzbekistan/3sdfdperet [Option ID = 2107]

Rajasthan, India/crerer, smea [Option ID = 2108]

A W N -

Correct Answer :-
e Afghanistam/smwenforzaret [Option ID = 2105]

2) Jangarh Singh Shyam is known as the flag bearer of a particular tribal(Adivasi) art. Name it.

Stote1u1 31 91 I uap fafdrse snfcaril ascir 1 east disa @ WU 3 Siloll SIIAT & 3D oIl IdIu &

[Question ID = 528][Question Description = S2_qSNz_PG_VIS_Q02]
Wali/aeff [Option ID = 2109]

Bhil/sfter [Option ID = 2110]

Gond/siis [Option ID = 2111]

Saura/zita [Option ID = 2112]

A w N =

Correct Answer :-

e Wali/acff [Option ID = 2109]

3) Which is the earliest structural temple of Pallava period?

Uccid DIl a1 Adifern MRMDs JAsdelcad #ifcs dior a1 3 ?

[Question ID = 529][Question Description = S2_qSNz_PG_VIS_Q03]
1. Kailashnath Temple, Kanchipuram/demorener siféz, wiciger [Option ID = 2113]

2. Shore Temple, Mahabalipuram/ el @iféz, sremciigzar [Option ID = 2114]

3. Vaikuntha Perumal Temple, Kanchipuram/d@mo a1, @idiga [Option ID = 2115]
4. Bhima Rath, Mahabalipuram/sfiarzer, semeciigzar [Option ID = 2116]

Correct Answer :-
e Kailashnath Temple, Kanchipuram/@enorerer 3ifez, piciigzer [Option ID = 2113]

4) From the following which one is regarded as the first tomb constructed in marble in India?

forgatfeiRae 3t A P FRD DY HRA 3 AT A TIRN SRI YLIA BRI Al SIIT 5 ?

[Question ID = 530][Question Description = S2_qSNz_PG_VIS_Q04]
1. Hoshang Shah's Tomb/zl9pI 918 @t i1 [Option ID = 2117]

2. Taj Mahal/amt aset [Option ID = 2118]

3. Tomb of Itmad-ud-Daula/sems - 35 - Glenm @t aipeRr [Option ID = 2119]

4. Bibi ka Makbara/didl @1 #ipa=r [Option ID = 2120]

Correct Answer :-
e Hoshang Shah's Tomb/3sier 9iis @1 Izt [Option ID = 2117]

5) Shung sculpture of Chulkoka Yakshi, found in Bharhut shows the Yakshi standing on:

3 3 urs o1$ gerplodl Al b 9jor wicilor el I 33 fopa ur 31 fCar sri 3 ?

[Question ID = 531][Question Description = S2_qSNz_PG_VIS_Q05]

1. Lotus/wparet

[Option ID = 2121]
2. Lion/Bis

[Option ID = 2122]
3. Elephant/zreft

[Option ID = 2123]



4. Tortoise/@wcsu

[Option ID = 2124]

Correct Answer :-

® |otus/mdaer

[Option ID = 2121]

6) Who has directed the documentary film Meeting Manjit?

gd frq "diifeer Fisfia” @ Bréore fepaol fop=m 3 ?

[Question ID = 532][Question Description = S2_qSNz_PG_VIS_Q06]
1. Buddhadeba Dasgupta/ggaa armepar [Option ID = 2125]

2. Ina Puri/sam gst [Option ID = 2126]

3. Jyoti Bhatt/Rifer srg [Option ID = 2127]

4. Shyam Benegal/ a1 dooret [Option ID = 2128]

Correct Answer :-
e Buddhadeba Dasgupta/ggcd griepar [Option ID = 2125]

7) Who has authored the book Art as Experience?

"311¢ wsl waAfui¥ed" gram ol el el &i 8 ?

[Question ID = 533][Question Description = S2_qSNz_PG_VIS_QO07]
1. C. J. Ducasse/=ft. 51 sg@rI [Option ID = 2129]

2. R. G. Callingwood/smR. Sft. @ifeisrgs [Option ID = 2130]

3. Nelson Goodman/aic3tet 3fsdtat [Option ID = 2131]

4. John Dewey/sifor 3dt [Option ID = 2132]

Correct Answer :-
e C. J. Ducasse/zft. 3. sgort [Option ID = 2129]

8) Images of Shiva are found in Gajahasta mudra in which of the following sculptures:

forrarferRaa 3 A fop1 et 3 Bra & s seea g 3 urs sidl 3 ?

[Question ID = 534][Question Description = S2_qSNz_PG_VIS_Q08]
1. Kalyan Sundar/@cmur Jocz

[Option ID = 2133]
2. Natraj/oicrst

[Option ID = 2134]
3. Ravan Anugrah/3raur sigsfe

[Option ID = 2135]
4. Ganga Avataram/sisIr radur

[Option ID = 2136]

Correct Answer :-
e Kalyan Sundar/@camr Jog2

[Option ID = 2133]

9) Which painter is famous as the '‘Bhilon ka Chitera' (Painter of 'Bhil’ tribe) :

Diol AT Riqoor "sficl @1 Rid=1” @& (sfier steenia o1 Rigor) su 3 giing 3 ?

[Question ID = 535][Question Description = S2_qSNz_PG_VIS_Q09]
1. Kripal Singh Shekhawat/durer Ris 9raraa [Option ID = 2137]

2. Ram Gopal Vijayvargiya/ et siturel fasriastter [Option ID = 2138]

3. Bhoor Singh Shekhawat/spRis dramaa [Option ID = 2139]

4. Goverdhanlal Joshi/slaleretet siioft [Option ID = 2140]

Correct Answer :-

e Kripal Singh Shekhawat/@uret Ris 9=araa [Option ID = 2137]

10) Which traditional painting style is characterized by Bold and Contrast colours consistency?

fopa1 urRulye fRre kel &I fafdrscar 3 Jruse iR fARIEN o1 wapudar



[Question ID = 536][Question Description = S2_qSNz_PG_VIS_Q10]
1. Kangra style/wisrst dicft [Option ID = 2141]

2. Mughal style/gpret dicft [Option ID = 2142]

3. Rajasthani style/srermch dteft [Option ID = 2143]

4. Ajanta style/asmsiar dicft [Option ID = 2144]

Correct Answer :-
e Kangra style/wiorst icft [Option ID = 2141]

11) The term 'ORPHISM' coined by whom?

"sifissa” orsg @I fobot arGT ?

[Question ID = 537][Question Description = S2_qSNz_PG_VIS_Q11]
Apollinaire/smicflorr [Option ID = 2145]

Andy Warhol/gst adfer [Option ID = 2146]

Louis Vauxcelles/en arRicrt [Option ID = 2147]

Le Corbusier /e @orgfsrR [Option ID = 2148]

A W N -

Correct Answer :-

e Apollinaire/smcfiore [Option ID = 2145]

12) Which of following is known as ‘The Divine Proportion' as proposed by Leonardo de Vinci-
ferileIret < fokdl grRI yzaifad, foeifeiRaa 3 3 o1 Sdikn AdguIa (g f3arser Yiuieler) o> u 3 Sirell SIdr & ?

[Question ID = 538][Question Description = S2_qSNz_PG_VIS_Q12]
1. Praxiteler's law/Jfd=referrr cif [Option ID = 2149]

2. Rule of the Thirds/e sifw & es=i [Option ID = 2150]

3. The Golden Ratio/g siiesat 3ol [Option ID = 2151]

4. Fibonacci sequence/ffeRieir RBradar [Option ID = 2152]

Correct Answer :-
e Praxiteler's law/yferRicferrt it [Option ID = 2149]

13) Modern Indian Painter G. R. Santosh is known for which of the following?
sggfore sRel figeR S siR. JAd fore 3 A fpa & fre SiraY st & ?

[Question ID = 539][Question Description = S2_qSNz_PG_VIS_Q13]
1. Mythological Content/udlfirp fatriazq

[Option ID = 2153]
2. Social Realism /w3 =remefarg

[Option ID = 2154]
3. Kashmiri Shavism/@meafist diaare

[Option ID = 2155]
4. Expressionist trends/sifSiistelcad ygfen

[Option ID = 2156]

Correct Answer :-

e Mythological Content/dlfe frwRiasqg
[Option ID = 2153]

14) Write the name of artist who was inspired by"Kalighat Pattachitra"?

[Question ID = 540][Question Description = S2_qSNz_PG_VIS_Q14]

1. Amrita Shergil/swErar 9rfrer [Option ID = 2157]

2. A. R. Chugtai/u. 3m geras [Option ID = 2158]

3. Asif Kumar Haldar/ 313 @arR sieier [Option ID = 2159]
4. Jamini Roy/3ifdweft 3r1 [Option ID = 2160]

Correct Answer :-
e Amrita Shergil/smyar 9rfrer [Option ID = 2157]

15) Which Indian Painter who was also a sculptor, a muralist, and an Architect of the post-Independent era, passed away
on March 26, 2020?

26 air<d, 2020 o fopa el RigoeR @1 foreret 3311 il Fardasaiar ®ld @ v Jfdor, Bift Riger sk arger it a ?



[Question ID = 541][Question Description = S2_qSNz_PG_VIS_Q15]
1. Jahangir Sabavala/sisfiz Jearen

[Option ID = 2161]
2. Akbar Padamsee/smaz ucaft

[Option ID = 2162]
3. Satish Gujral/3rtor sRIcr

[Option ID = 2163]
4. Bhaveshchandra Sanyal/siderdog, 3eRiet

[Option ID = 2164]

Correct Answer :-

e Jahangir Sabavala/s@pfz Jrearer
[Option ID = 2161]

16) What effect is created through horizontal lines?

Sifers Yzarsil & amead A dlol A Ysira b Frow Bt 3 ?

[Question ID = 542][Question Description = S2_qSNz_PG_VIS_Q16]
1. Anxiety/wmgr [Option ID = 2165]

2. Agitation/sgfer [Option ID = 2166]

3. Excitement/3tisten [Option ID = 2167]

4. Tranquillity/gerifer [Option ID = 2168]

Correct Answer :-
® Anxiety/wmyar [Option ID = 2165]

17) Web design refers to the design of websites that are displayed on which of the following?
A9 31101 @I 31ef 3 a8 duemse f3onsa i forvorfaRaa & 24 s3di 3 ygfofa aiar @

[Question ID = 543][Question Description = S2_qSNz_PG_VIS_Q17]
1. Print media/fie fifSen

[Option ID = 2169]
2. Digital Banners/f3fseet dorf

[Option ID = 2170]
3. Billboards/ farstuer ug

[Option ID = 2171]
4. Internet/gcoic

[Option ID = 2172]
Correct Answer :-
® Print media/fije fifsen
[Option ID = 2169]

18) Which kind of billboards allow animated advertisement to be displayed via LED screens
fopa1 g @ fasaer ugl uz vads Iadlol @ Sifve Ieha ufernies fasmue yeidfa feu s awma 3 ?
[Question ID = 544][Question Description = S2_qSNz_PG_VIS_Q18]

. Static billboards/sret fasmuet ug [Option ID = 2173]

. Mobile billboards/ et fasmuet ug [Option ID = 2174]
Digital billboards/ffSieet fasmuet ug [Option ID = 2175]
. Web pages/da yss [Option ID = 2176]

A W N -

Correct Answer :-
e Static billboards/srret fasimet ug [Option ID = 2173]

19) 'CTP'is a term in printing that signifies:

Jour A A & o’ o1 3ref B ¢

[Question ID = 545][Question Description = S2_qSNz_PG_VIS_Q19]
1. Computer to Print/@wiez 3 ggur [Option ID = 2177]

2. Computer to Paper/@wie? 3 ®pw [Option ID = 2178]

3. Computer to Plate/@swce 3 wie [Option ID = 2179]

4. Computer Pre-press/@mwiez gi-tt [Option ID = 2180]

Correct Answer :-
e Computer to Print/@wyez 3 gigur [Option ID = 2177]



20) Wood engraving is done on wooden plank which has the following
gs Toolfdidl 53 YR Pl Il @ Berdd R v sirer 3

[Question ID = 546][Question Description = S2_qSNz_PG_VIS_Q20]
1. Side grain / s S)or
[Option ID = 2181]
2. End grain / 6s St
[Option ID = 2182]
3. Plain grain / w¥at et

[Option ID = 2183]
4. Long grain / cifeer 3at

[Option ID = 2184]

Correct Answer :-
e Side grain / s SJor
[Option ID = 2181]
21) Gmail is a great example of:
Shidrct forgor 3 A fbaA®T ABI6T 180T 3 ?

[Question ID = 547][Question Description = S2_qSNz_PG_VIS_Q21]
. Informercial/sswraRfret [Option ID = 2185]

. Infographics/sewspftserar [Option ID = 2186]

. Web application/du efterderer [Option ID = 2187]

. Advertorial/esacifser [Option ID = 2188]

A W N -

Correct Answer :-
e Informercial/sowraRkicr [Option ID = 2185]

22) Which of the following headline is not written by David Ogilvy:

forgarfeiRaa 3 A1 fopar ofid dfepeal ot Sfas siifSadl of ol forar e -

[Question ID = 548][Question Description = S2_qSNz_PG_VIS_Q22]

1. "At 60 miles an hour the loudest noise in the new Rolls-Royce comes from the electric clock"./"60 afier yfer &ie &bt aifer 3 aet 28t o1 Aca R F Aafferd oz
frgger afera ast A 8w 8

[Option ID = 2189]
2. "Now woman over 35 can look younger"/" ara 35 axf 3 aiféres <t aifden gar oot Jepedt 3

[Option ID = 2190]
3. "The man in the Hathway Shirt"./"g 3l 5ot G a1 o1 "

[Option ID = 2191]
4. "I'm loving it"/ams v cfdst s¢

[Option ID = 2192]

Correct Answer :-
e "At 60 miles an hour the loudest noise in the new Rolls-Royce comes from the electric clock"./"60 dftet yfer z@ie &bl sifer 3 aet 38 off A=A IRRA 3t Adiferd oz

eyt aftret &t 3 e 8
[Option ID = 2189]

23) Which of the following is not the function of packaging?

forgatfeiRaa af A o= UdRier @1 oRi o1idl 3 :

[Quest1on ID = 549][Question Description = S2_qSNz_PG_VIS_Q23]
Identification/usaret [Option ID = 2193]

Recycling/ger: 3wzt [Option ID = 2194]

Protection/zizemr [Option ID = 2195]

Communication/ziguur [Option ID = 2196]

AWN—\

Correct Answer :-
e |dentification/usare [Option ID = 2193]

24) Who is called "the Father of Advertising"?
"fAISIUel ¢l I Stold” fbA sl SIrdr 3 ?

[Question ID = 550][Question Description = S2_qSNz_PG_VIS_Q24]
. Paul Rand/dfet 35 [Option ID = 2197]

. David Ogilvy/sf¥s siifSredt [Option ID = 2198]

. Walter Gropius/areez spftert [Option ID = 2199]

. Largo Moholy Nagy/errsel aitelett ameft [Option ID = 2200]

A w N =

Correct Answer :-



® Paul Rand/dict 35 [Option ID = 2197]

25) Stanley William Hayter established "Atelier 17" in-

Feoral fafermar ez of "weferr 17" &t Fenuornn fooa ad # & eff ?

[Question ID = 551][Question Description = S2_qSNz_PG_VIS_Q25]
1926/1926 [Option ID = 2201]
1928/1928 [Option ID = 2202]
1914/1914 [Option ID = 2203]
1930/1930 [Option ID = 2204]

A w N =

Correct Answer :-
e 1926/1926 [Option ID = 2201]

26) "Chhaap - Baroda" was established by:
"81q - SSicI I Feuel fdprol & off ?

[Question ID = 552][Question Description = S2_qSNz_PG_VIS_Q26]
1. Kavita Nayar/ofdar sire [Option ID = 2205]

2. Rini Dhumal/®sft ggret [Option ID = 2206]

3. R. M. Pallaniappan/sir wa uenfosius [Option ID = 2207]

4. Gulam Mohammed Sheikh/sjem aitesaic 9a [Option ID = 2208]

Correct Answer :-
e Kavita Nayar/@fdar sirrz [Option ID = 2205]

27) "Conte" and "Tusche" are used in:

"®loe” @ "gA" @1 g1 forgsiferf3aa 3 3 Rpdl v sirar 3 ?

[Question ID = 553][Question Description = S2_qSNz_PG_VIS_Q27]
1. Photography/wicisbt [Option ID = 2209]

2. Serigraphy/33sébt [Option ID = 2210]

3. Lithography/ferelsd! [Option ID = 2211]

4. Intaglio/sefesi [Option ID = 2212]

Correct Answer :-

® Photography/wicebt [Option ID = 2209]

28) “"Christ on the throne being mocked" was created by:
"@prs3c sifel § Yiat digar dias” &l el [Kpaet b off ?

[Question ID = 554][Question Description = S2_qSNz_PG_VIS_Q28]
. Henri Matisse/gsit st [Option ID = 2213]

. Albrecht Durer/veidea s2 [Option ID = 2214]

. Rembrandt/3#gi [Option ID = 2215]

. Frans Snyders/wit Jomsszt [Option ID = 2216]

A w N -

Correct Answer :-
® Henri Matisse/ger3 aieitst [Option ID = 2213]

29) In India, wood intaglio was introduced by :

R 3 PIeo Iccblviol bl 9Fand fdpror b off ?

[Question ID = 555][Question Description = S2_qSNz_PG_VIS_Q29]
1. N. Krishna Reddy/wer. @wn Isst

[Option ID = 2217]
2. Sanat Kar/3ofaam:2

[Option ID = 2218]
3. Somnath Hore/>31oter 82

[Option ID = 2219]
4. Dattatraya Apte/carg sme

[Option ID = 2220]

Correct Answer :-

e N. Krishna Reddy/wer. qoeom Ig&t
[Option ID = 2217]

30) Mezzotint was invented by:
Aenfeece @ snfacorR foroifciRaa 3 A fovaar fasem e :



[Question ID = 556][Question Description = S2_qSNz_PG_VIS_Q30]
Franz Cizek/wist B [Option ID = 2221]

Joseph Hecht/SiRw aae [Option ID = 2222]

Ludwig Von/gsfder dfer [Option ID = 2223]

William Hayter/fafermr axez [Option ID = 2224]

A WN -

Correct Answer :-
® Franz Cizek/wisr Brias [Option ID = 2221]

31) In ancient method of printing, the ink used was
Jcu1 i yreiler fafer 3 giler i sirorarett =dh oft -

[Question ID = 557][Question Description = S2_qSNz_PG_VIS_Q31]
1. Water-based/siet smenf¥a [Option ID = 2225]

2. Oil-based/de smenfya [Option ID = 2226]

3. PVC- based/tt dt 2ft amenfyar [Option ID = 2227]

4. Ceramic-based/RBrfi smenf¥a [Option ID = 2228]

Correct Answer :-
e Water-based/swr smenf¥a [Option ID = 2225]

32) In 1990, the Indian "Printmakers Guild" was established by:
1990 # sz “fjcdmed Bres” & Femuetn fipaat & ?

[Question ID = 558][Question Description = S2_qSNz_PG_VIS_Q32]
Jayant Gajera/srida st [Option ID = 2229]

Kavita Shah/@fdar ome [Option ID = 2230]

Jai Zharatia/srr sRifezn [Option ID = 2231]

Kanwal Krishna/@aet gueor [Option ID = 2232]

A wWw N =

Correct Answer :-
e Jayant Gajera/srid swra [Option ID = 2229]

33) 'Flute Player' is a sculpture by :

"TJe wrR' forgaferRaa 3 A fpzret Jfef foreu 3 ?

[Question ID = 559][Question Description = S2_qSNz_PG_VIS_Q33]
1. P. R. Pochkhanawala/dt. sm=. drazareraren [Option ID = 2233]

2. Ratnabali Kant/zcammafer @i [Option ID = 2234]

3. Amar Nath Sehgal/sm@rReme Jtesret [Option ID = 2235]

4. Dhan Raj Bhagat/eerrst sre [Option ID = 2236]

Correct Answer :-

® P. R. Pochkhanawala/dt. sir. diarareraren [Option ID = 2233]

34) Identify the ‘Installation artist’ from the following
forgotferRaa 3 A "gfercoraer werwR” &bt usdre G

[Question ID = 560][Question Description = S2_qSNz_PG_VIS_Q34]
1. Laurens/em [Option ID = 2237]

2. Lehmbruck/csage® [Option ID = 2238]

3. Barlach/azemra [Option ID = 2239]

4. Christo/Rpzel [Option ID = 2240]

Correct Answer :-

e |aurens/em [Option ID = 2237]

35) 'The Dying Centaur’ is a sculpture by

"g s1éa1 Ay forrarferRaa 3 A1 Rt gfef forea 3 ?

[Question ID = 561][Question Description = S2_qSNz_PG_VIS_Q35]
1. Antoine Bourdelle/sdiser @geet [Option ID = 2241]

2. Marino Marixi/alell sifseft [Option ID = 2242]

3. Georg Baselitz/smof arRiferest [Option ID = 2243]

4. Andrea Cascella/sfen wrier [Option ID = 2244]

Correct Answer :-

e Antoine Bourdelle/dser ddeet [Option ID = 2241]
36) 'BonQuet' is a sculpture by

' g’ et forcu @) forgsifeiRaa 3 3 b0l Jotrm 3 ?

[Question ID = 562][Question Description = S2_qSNz_PG_VIS_Q36]



Anthony Caro/ueweft @RI [Option ID = 2245]
Pablo Picasso/urecit furit [Option ID = 2246]
Jeff Koons/aiw @yoat [Option ID = 2247]

Kiki Smith/<ibr Rater [Option ID = 2248]

A W N -

Correct Answer :-
e Anthony Caro/vewefl @RI [Option ID = 2245]

37) Glyptic mode of rendering form is associated with
U ol I Baftew ifer forsorferlRaa 2 s9ag 3 :

[Question ID = 563][Question Description = S2_qSNz_PG_VIS_Q37]
Welding /s (afessr) [Option ID = 2249]

Carving/oramreft [Option ID = 2250]

Modelling/yfersuur [Option ID = 2251]

Casting/@ems [Option ID = 2252]

A W N -

Correct Answer :-
e Welding/srer$ (afesst) [Option ID = 2249]

38) Carborundum stone is a crystalline compound of
DERUsH UceR forsoifalRaa & 2 o &1 fpzectz st & ?

[Question ID = 564][Question Description = S2_qSNz_PG_VIS_Q38]
Calcium and Silica/a@feormr siiz Riferer [Option ID = 2253]

Carbon and Aluminiun/rdel 3l ecgfdforer [Option ID = 2254]

Carbon and Silicon/@rdar 3iiz Biferaier [Option ID = 2255]

Calcium and Aluminium/@feerm 3iik weyfiiforpr [Option ID = 2256]

A wWw N =

Correct Answer :-
e Calcium and Silica/afeorm siiz Riferat [Option ID = 2253]

39) Henry Moore was influenced by
Fordl 317 forrarferlRaa 3 A1 fpar A Yanfara gu & ?

[Question ID = 565][Question Description = S2_qSNz_PG_VIS_Q39]
1. Egyptian Sculptures/f3Ry @t aifef forea

[Option ID = 2257]
2. African Sculptures/3nbidht afef fSreu

[Option ID = 2258]
3. Maya, Aztec Sculptures/#rn wsiea  #fef forea

[Option ID = 2259]
4. Indian Sculptures/smcitr gfef forea

[Option ID = 2260]

Correct Answer :-

e Egyptian Sculptures/figy @1 Jfef Srea
[Option ID = 2257]

40) 'Blowing the Conch' is a sculpture by
"sciigol ¢ pia fpamr et fOrea 3 ?

[Question ID = 566][Question Description = S2_qSNz_PG_VIS_Q40]
1. P. V. Janakiram/d. dt. Smeibizer [Option ID = 2261]

2. Vinayak Pandurang Karmarkar/fdeIrIe uigst w2am2 [Option ID = 2262]

3. Himmat Shah /s o [Option ID = 2263]

4. Shiv Singh/fom Bis [Option ID = 2264]

Correct Answer :-
e P.V. Janakiram/dt. dt. serblmer [Option ID = 2261]

41) Choose from the following the monuments that have an apsidal plan.
A. Bhaja Chaitya

B. Lad Khan Temple, Aihole

C. Durga Temple, Aihole

D. Vaital Deul, Bhubaneswar

E. Trivikram Temple, Ter(Maharastra)

Choose the correct answer from the options given below:



RiffeciRian 3 A RIS oI dIcl IARD ol :

A. s e

B. oI5 wre #ife, sl

C. gori difer, arsdlear

D. &drer ¢3e1, Yaol*ar

E. ffferpan 3ifez, ar (FerIeg)

sifa fou s1e frpeul 9 A A IR BT a6l HIfSE ¢

[Question ID = 567][Question Description = S2_qSNz_PG_VIS_Q41]
1. A, B and C only/daet A, B siiz C

[Option ID = 2265]
2. A, CandE only/aaa A, C siiz E

[Option ID = 2266]
3. B, DandE only/aaa B, D siz E

[Option ID = 2267]
4. C,DandEonly/aae C, D sl E

[Option ID = 2268]

Correct Answer :-
e A, Band Conly/dac A, B aiiz C

[Option ID = 2265]

42) Select from the following the artists who were faithful to the Surrealist movement.
A. Andre Derain

B. Marcel Duchamp

C. Salvador Deli

D. Rene Magritte

E. Joan Miro

Choose the correct answer from the options given below:

foif¥serfiaa & A T ©3 A werer Sl ACRICNIAIST 3ieciciol @ gfer forsorarst 3@
A. 3o 33

B. Fmofer zon

C. Jcask sicll

D. o1 aerfye

E. Sier fRr

i) feu s1v famedl 3 A A8 IR D1 TRIeT BRI :

[Question ID = 568][Question Description = S2_qSNz_PG_VIS_Q42]
1. A, B and C only/daa A, B siiz C

[Option ID = 2269]
2. B, C and D only/a@ae B, C sz D

[Option ID = 2270]
3. C,DandEonly/aaa C, D3R E

[Option ID = 2271]
4. A, Cand D only/@ae A, C 3iiz D

[Option ID = 2272]

Correct Answer :-



e A, Band Conly/dac A, B iz C
[Option ID = 2269]

43) ldentify the correct set of Dhyani Buddhas (Buddhas in meditation)
A. Maitreya

B. Amitabh

C. Manjushree

D. Vairochana

E. Avalokitesvara

Choose the correct answer from the options given below:

£ATGIFY g D AH {1 AGI AT DI UsdIol

A. dqa

B. sifdreast

C. Jispelt

D. &_raor

E. sacifepaear

oA R s1e Riecdl # A w1 & a2 goi ¢

[Question ID = 569][Question Description = S2_qSNz_PG_VIS_Q43]

Aand B only/dact A siiz B [Option ID = 2273]
. Cand D only/asaet C siiz D [Option ID = 2274]
A and E only/d@aet A siiz E [Option ID = 2275]
B and D only/dbaet B siiz D [Option ID = 2276]

AW N =

Correct Answer :-
® AandB only/dact A 3iiz B [Option ID = 2273]

44) Choose the salient features of medieval manuscript painting "Kalpasutra”
A. Farther Eye

B. Angular and crispy lines

C. Chiaroscuro

D. Transparency of colours

E. Pointed nose

Choose the correct answer from the options given below:

aeerptlor UigRIfY R "@eusny” Bt Screofln fAdrears gor ©

A. 330 a1e2 Rrwa o

B. olvila wd @wdkk Faiaet

C. BRI ybI9r

D. 33 <t urcfdfar

E. gebicht arp

il fou s1u fRyeseul 3 21 & 3a= goi ¢

[Question ID = 570][Question Description = S2_qSNz_PG_VIS_Q44]

. A, Band C only/dact A, B siiz C [Option ID = 2277]
. C, D and E only/dae C, D siiz E [Option ID = 2278]
. B, Cand D only/aact B, C siiz D [Option ID = 2279]
. A, B and E only/dact A, B siiz E [Option ID = 2280]

A WN -

Correct Answer :-

e A, Band C only/aac A, B iz C [Option ID = 2277]

45) In literature and arts Romanticism was focused on
A. Individual Freedom

B. Love for Nature



C. Classicism
D. Morality
E. Imagination superior to reason

Choose the correct answer from the options given below:

AT a werr A AdiAarG dfogd 3

A. cafepera Facidar

B. gmfer 9w

C. oz

D. ciferpar

E. adefts A a3 § wcustelicrar

il feu s1u faeedl 3 A A8 IR @1 TRIel B :

[Question ID = 571][Question Description = S2_qSNz_PG_VIS_Q45]

1. A, B and C only/dact A, B siiz C [Option ID = 2281]
2. B, C and D only/dsaa B, C siiz D [Option ID = 2282]
3. C, D and E only/a@aet C, D siiz E [Option ID = 2283]
4. A, B and E only/dact A, B siiz E [Option ID = 2284]

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 2281]

46) ldentify the artists who were associated with school of 'BAUHAUS'
A. Mohaly Nagy

B. Paul Klee

C. Naum Gabo

D. Mark Rothko

Choose the correct answer from the options given below:

A. Jrcit o1l

B. dfer acft

C. o= smEr

D. #rs Aermt

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 572][Question Description = S2_qSNz_PG_VIS_Q46]

1. Aand B only/d>aet A siiz B [Option ID = 2285]
2. B and C only/dae B siiz C [Option ID = 2286]
3. Cand D only/asaer C siiz D [Option ID = 2287]
4. Aand D only/dact A siiz D [Option ID = 2288]

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 2285]

47) Identify the Kant's theory of aesthetics from the following.
A. Theory of Intuition

B. Theory of Critique of Pure Reason

C. Theory of imitation

D. Theory of Critique of Judgement

E. Theory of Imagination

Choose the correct answer from the options given below:

forgaiferRaa 3 3 dlec @ AHigAonR< Rigia o1 usarfera:
A. 218l i scygret



B. 21 sifw fipdip siiw IR 3istet

C. el sifw sRRorer

D. eidl sifw fopfew sifw Sreic

E. eardt sifws safSrotoret

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 573][Question Description = S2_qSNz_PG_VIS_Q47]

. A and B only/a@aet A siiz B [Option ID = 2289]
C and D only/@aet C iz D [Option ID = 2290]
A and E only/d>qet A siiz E [Option ID = 2291]
B and D only/@aet B siiz D [Option ID = 2292]

A W N -

Correct Answer :-
e A and B only/dsaet A siiz B [Option ID = 2289]

48) ldentify the artists who were associated with group 'Shilpi Chakra’
A. B. C. Sanyal

B. Mohan Samant

C. Kanwal Krishna

D. D. G. Kulkarni

Choose the correct answer from the options given below:

'forcu aqy’ e A Adg BRI B usdlfor :

A. dt:ft. AT

B. sllsal AwIoa

C. @ad qeur

D. 3. sft. qgerapuff

ofi fou o1 el 3 1 A8t STz gt :

[Question ID = 574][Question Description = S2_qSNz_PG_VIS_Q48]

1. Aand B only/@det A siiz B [Option ID = 2293]
2. Aand C only/@act A 3iiz C [Option ID = 2294]
3. Aand D only/dact A siiz D [Option ID = 2295]
4. B and D only/d@ae B siiz D [Option ID = 2296]

Correct Answer :-
e Aand B only/@aet A 3iiz B [Option ID = 2293]

49) ldentify the names of women art critics and curators. from the following:
A. Mrinalani Mukherjee

B. Gayatri Sinha

C. Naina Dalal

D. Kiran Nadar

Choose the correct answer from the options given below:

forgotferRaa 3f 3 Afden wen ABfierd] a aPed B oIt aarm :

A. gonferoft gt

B. smRr Risar

C. SR¥el Getrel

D. fép3v1 oIS

i) feu s1u famedl 3 A A8 IR D1 TRIe BRI :

[Question ID = 575][Question Description = S2_qSNz_PG_VIS_Q49]

A and B only/dact A siiz B [Option ID = 2297]
B and C only/dsaet B siiz C [Option ID = 2298]
B and D only/@aet B siiz D [Option ID = 2299]
C and D only/aaet C 3fiiz D [Option ID = 2300]

AW N =



Correct Answer :-
e A and B only/daer A siiz B [Option ID = 2297]

50) Find the name of the books which were written by O. C. Ganguly.
A. Ragas and Raginis

B. Indian Painting

C. Rajput Painting

D. Indian Miniatures

Choose the correct answer from the options given below:

ai. 21, arivgcht et Rifdad gzt & ol aard :

A. 3PS G ABKGIS

B. gf3%rer tifdsr

C. =y ufest

D. 33t farforaat

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 576][Question Description = S2_qSNz_PG_VIS_Q50]

1. Aand B only/d>aet A siiz B [Option ID = 2301]
2. Aand C only/dact A siiz C [Option ID = 2302]
3. Band C only/dsaet B siiz C [Option ID = 2303]
4. Cand D only/daaer C siiz D [Option ID = 2304]

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 2301]

51) The following typefaces are serif faces:
A. New Times Roman

B. Helvetica

C. Georgia

D. Gill Sans

Choose the correct answer from the options given below:

forsifeiRaa crsu &3 ollw-uced (ARw) B T

A. oy T1sHI Al

B. 3cafest

C. sufskn

D. Bre o1

il fou s1u fyeseul 3 31 & Fa= goi ¢

[Question ID = 577][Question Description = S2_qSNz_PG_VIS_Q51]

. A and B only/daet A siiz B [Option ID = 2305]

. B and C only/dsae B siiz C [Option ID = 2306]
. Aand C only/dact A siiz C [Option ID = 2307]
. Cand D only/aae C 3z D [Option ID = 2308]

A W N -

Correct Answer :-
® A and B only/d@aet A siiz B [Option ID = 2305]

52) The most common length of TV commercials on television are
A. 10 Seconds
B. 15 Seconds
C. 30 Seconds
D. 20 Seconds

Choose the correct answer from the options given below:

efifarsier uz fasustl &t Jatferes smer srafer &



A. 10 33

B. 15 a@s

C. 30 s

D. 20 aas

il fou s1u fyapeul 3 21 & 3a= goi ¢

[Question ID = 578][Question Description = S2_qSNz_PG_VIS_Q52]

. (A) and (B) only/dbaet A siiz B [Option ID = 2309]

. (B) and (C) only/daet B siiz C [Option ID = 2310]
. (A) and (C) only/a@aet A siiz C [Option ID = 2311]
. (C) and (D) only/daet C siiz D [Option ID = 2312]

A WN -

Correct Answer :-
® (A) and (B) only/dbacr A aiiz B [Option ID = 2309]

53) Which country does Robert Motherwell belong to?

Aaé AcAd b Sor A 3?

[Question ID = 579][Question Description = S2_qSNz_PG_VIS_Q53]
1. Germany / Swfelt

[Option ID = 2313]
2. France / wixt

[Option ID = 2314]
3. United States of America / Jolses A 3l PIDL

[Option ID = 2315]
4. Britain / ot

[Option ID = 2316]

Correct Answer :-
® Germany / Swioft

[Option ID = 2313]

54) The following terms are related to "Print Media"
A. Point of Purchase

B. Magazine

C. Newspaper

D. Commercial

E. Jingle

Choose the correct answer from the options given below:

forgotferfaa 3 A wlar A uc "Rie fHfdan” 2 ddfira 3 ?

A. @z fig

B. afeer

C. JarER ugq

D. fersiraer

E. fSerer

ofia 3w 1w fwcal 3 A A& a2 goi -

[Question ID = 580][Question Description = S2_qSNz_PG_VIS_Q54]

. (A) and (B) only/d@aet A sfiz B [Option ID = 2317]
. (A) and (C) only/aaet A siiz C [Option ID = 2318]
. (B) and (C) only/a@aer D siiz E [Option ID = 2319]
. (C) and (E) only/adae B siz D [Option ID = 2320]

A w N =

Correct Answer :-
® (A) and (B) only/dbact A 3iiz B [Option ID = 2317]

55) The painting with the title "The Tribute Money" was painted by
"g Reae a6l ofiftfes arel freg @1 fepetol ot en?



[Question ID = 581][Question Description = S2_qSNz_PG_VIS_Q55]
1. Fra Angelico / wi Goreflat

[Option ID = 2321]
2. Giorgione / Sumsfsiiet

[Option ID = 2322]
3. Masaccio / sRufecrRl

[Option ID = 2323]
4. Paolo Uchchello / ursell 3caei

[Option ID = 2324]

Correct Answer :-
® Fra Angelico / ©f Goicfiar

[Option ID = 2321]

56) "Hokusai" is famous as:
A. Ukiyo-e writer

B. Ukiyo-e painter
C. Ukiyo-e sculptor
D. Ukiyo-e printmaker

Choose the correct answer from the options given below:

Bipré foratferRaa 3 A v vu 3 yRrg &

A. 3fdp0 © A

B. 3fépa u tier

C. e v gfeforr

D. sfdpal © surer

il 3w a1 et 9 A A& 3R goi ¢

[Question ID = 582][Question Description = S2_qSNz_PG_VIS_Q56]

1. B and D only/dae B 3fiz D [Option ID = 2325]
2. Aand C only/dsaet A siiz C [Option ID = 2326]
3. Band C only/d@act B siiz C [Option ID = 2327]
4. Cand D only/@aet C siiz D [Option ID = 2328]

Correct Answer :-
e B and D only/aae B siiz D [Option ID = 2325]

57) Who were members of the "Bichitra club” founded in 1915?
A. Abanindranath Tagore

B. Gagnendranath Tagore

C. Rabindranath Tagore

D. Samarendranath Tagore

Choose the correct answer from the options given below:

1915 3 renfra "faftrgr aca” & Pl dBlat TG g ?

A. safdrogorrer iz

B. smBlogolrel T3l

C. ¥diogatrer ¢alRk

D. Imogoner i

oA R s1e Riecdl # A a1 & a2 o

[Question ID = 583][Question Description = S2_qSNz_PG_VIS_Q57]

1. A, B and C only/dact A, B siiz C [Option ID = 2329]
2. A, B and D only/dbaet A, B 3iiz D [Option ID = 2330]
3. B, Cand D only/a@ae B, C siz D [Option ID = 2331]
4. A, Cand D only/a@ae A, C siiz D [Option ID = 2332]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 2329]



58) Identify the printmakers from the following :
A. R. M. Palaniappan

B. Dharmnarayan Das Gupta

C. Debraj Dakoji

D. Jeram Patel

E. Rini Dhumal

Choose the correct answer from the options given below:

forgoifeiRaa & A sSUIGAIGR Usdrd :

A. 3IR. wa. udeilscua
B. ei oIRRIVI SRT SfFT
C. Sarst sroisit

D. SrpEr uea

E. fofl emar
oii<l feu are fameal 3 A Al I= ol ©

[Question ID = 584][Question Description = S2_qSNz_PG_VIS_Q58]
1. A, Cand E only/@aa A, C 3z E

[Option ID = 2333]
2. A, B, Cand E only/dact A, B, C aiz E

[Option ID = 2334]
3. B,C,DandE only/d@aa B, C, D 3iz E

[Option ID = 2335]
4. A, B and D only/@ae A, B 3iiz D

[Option ID = 2336]

Correct Answer :-
e A, CandE only/aac A, C siiz E

[Option ID = 2333]

59) Identify the tools used in etching:
A. Scraper

B. Rocker

C. Burnisher

D. Needle

E. Levigator

Choose the correct answer from the options given below:

ofefer 3 gRIep Slotdrc 3SR

A. DU

B. 3d@d2

C. wofer

D. i

E. adidie:

ofla fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 585][Question Description = S2_qSNz_PG_VIS_Q59]

. A, Band C only/dsaet A, B siiz C [Option ID = 2337]
. A, Cand E only/daer A, C aiiz E [Option ID = 2338]
. A, D and E only/aqet A, D sk E [Option ID = 2339]
. A, Cand D only/a@aet A, C siiz D [Option ID = 2340]

A W N -

Correct Answer :-



e A, Band C only/dsaer A, B sz C [Option ID = 2337]

60) Which technique was used by Rembrandt in printmaking?
A. Serigraphy

B. Lithography
C. Drypoint
D. Etching
E. Chine Colle

Choose the correct answer from the options given below:

i D ERI e AfpsT i Blot 2 awofihl sedure &

A. A3erbt

B. cftensynby

C. sEuwEe

D. ufier

E. R @

ofi o s1u fwsedl & A A8 IR BT WRI6l BT :

[Question ID = 586][Question Description = S2_qSNz_PG_VIS_Q60]

1. B and E only/@ae B siz E [Option ID = 2341]
2. Aand D only/@aet A 3iiz D [Option ID = 2342]
3. Cand D only/d@qe C siiz D [Option ID = 2343]
4. A, B and E only/@aet A, B siiz E [Option ID = 2344]

Correct Answer :-
e B and E only/@aet B siiz E [Option ID = 2341]

61) Choose the artists who used to work in mixed media.
A. B. C. Sanyal

B. Pritpal Singh Ladi

C. Sushen Ghosh

D. Anita Dube

Choose the correct answer from the options given below:

Rifdfa e d BRI B At BeardRI BT TRIol HIfsTY :

A. & Al e

B. i ure f¥iz erst

C. 391 aw

D. aiforar ga

ofid o s1u feseal # A A8 IR BT <RIt BT :

[Question ID = 587][Question Description = S2_qSNz_PG_VIS_Q61]

A and B only/d>qet A siiz B [Option ID = 2345]
B and C only/@aet B siiz C [Option ID = 2346]
B and D only/dqct B sfiz D [Option ID = 2347]
C and D only/asaet C siiz D [Option ID = 2348]

A W N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 2345]

62) Sculptures created by Keneth Armitage are
A. The Patriot

B. Delphine

C. Slab Figure

D. Walking Group

Choose the correct answer from the options given below:



Dol IS GRI Jole 31w Jfef foreu 3

A. g afeac

B. 3ciflar

C. ¥4 for

D. aifewsr spa

il fou o1 fraseul 3 3 I IR BI w6l HIfSIE :

[Question ID = 588][Question Description = S2_qSNz_PG_VIS_Q62]

. A and B only/a@aet A siiz B [Option ID = 2349]

. Cand D only/aaet C sfiz D [Option ID = 2350]
. Aand C only/a@aet A siiz C [Option ID = 2351]
. B and D only/aae B sfiz D [Option ID = 2352]

A W N -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 2349]

63) Pneumatic tools are used for

A. Reducing the physical labour

B. Reducing substantially the time required
C. Save the materials

D. Enhancing manual skill

Choose the correct answer from the options given below:

arferel 3ua2vil @1 YRieT fbor @ fere fapen Sirar 3 ?

A. omfif¥es 9 DY GodI DIl D ferg

B. smragues A3 A wRIfH @t Bl & ferg

C. AERf Tamx & i

D. simerdt wigrer 3 giy & fere

il feu sru faredl 3 A A8 IR D1 TRIel B :

[Question ID = 589][Question Description = S2_qSNz_PG_VIS_Q63]
1. Aand B only/@act A siiz B

[Option ID = 2353]
2. Band C only/dacr B iz C

[Option ID = 2354]
3. Band D only/@act B siiz D

[Option ID = 2355]
4. Cand D only/daet C sk D

[Option ID = 2356]

Correct Answer :-
e Aand B only/dact A 3iz B

[Option ID = 2353]

64) Choose from the following sculptors those who work in stone :
A. Rajat Ghosh

B. Latika Katt

C. Nagji Patel

D. Balan Nambiar

Choose the correct answer from the options given below:



ucerz d ®RI Dol darel gfel Prcumrl i usare bifsg :
A. @ @9

B. eferor oz

C. el uea

D. aretort oliférIR

ofid o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 590][Question Description = S2_qSNz_PG_VIS_Q64]
1. Aand B only/dact A sz B

[Option ID = 2357]
2. Band C only/d@act B siiz C

[Option ID = 2358]
3. B and D only/daa B siiz D

[Option ID = 2359]
4. Cand D only/@aet C sk D

[Option ID = 2360]

Correct Answer :-
e Aand B only/@act A 3sik B

[Option ID = 2357]

65) Lorenzo Ghiberti was an Italian
A. Print maker

B. Sculptor
C. Film maker
D. Architect

Choose the correct answer from the options given below:

adsit Bracdf v sarerdt

A. s

B. gfef Rrecusr &

C. fivea forarfar &

D. argor A

il fou s1u fyeseul 3 A I IR BT a6l HIfSIE ©

[Question ID = 591][Question Description = S2_qSNz_PG_VIS_Q65]

A and B only/aet A 3iiz B [Option ID = 2361]
A and C only/d@act A siiz C [Option ID = 2362]
B and D only/dsaet B siiz D [Option ID = 2363]
B and C only/dact B sfiz C [Option ID = 2364]

A W N -

Correct Answer :-
® A and B only/@act A siiz B [Option ID = 2361]

66) Match List | with List Il

List | List Il
IA.Portraits of Gudea |I. Rome

B. Arch of Constantine Il. Japan

C. Ziggurat Ill. Mesopotamia
D. Haniwa IV. Sumeria

Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgaifera Hifste ¢

et -1 et -l

A. A& 3ifw spRer I 3

B. airel sifw widRer II. strarer

C. Brpc 1l I=fdreRrn
D. softar IV. sgaifar




ofl fou s1o fRrpeul 3 3 A IR gforw ©
[Question ID = 592][Question Description = S2_qSNz_PG_VIS_Q66]

A-IV,B-l, C-lll, D -ll [Option ID = 2365]
A-IV,B-lll, C-Il, D -l [Option ID = 2366]
A-ll ,B-IV, C-lll, D -I [Option ID = 2367]
A-l,B-Il, C-lll, D -IV [Option ID = 2368]

A W N -

Correct Answer :-
® A-IV,B-l,C-Ill,D-Il [Option ID = 2365]

67) Match List | with List Il

List | List Il

A. Auguste Renoir |[.. Glass of Absinthe

B. Edgar Degas Il. Little Dancer of 14 years

C. Picasso lll. Standing Venus

D. Umberto Boccioni IV. Unique form of continuity in space

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxe -| oxet -1l

A. 3BT Ja6il |. scirT sifw Bfeader

B. useR oA Il. feifeet sienR sifs 14 St

C. fororn Ill. ¥f3e1 dior A1

D. Ssadl aifriei IV. gofier &t sifs BRUET 3ot FUT

il fou s1e frseul 3 ¥ A8 IR gfor ©
[Question ID = 593][Question Description = S2_qSNz_PG_VIS_Q67]

A-lIl,B-l,C-Il, D -IV[Option ID = 2369]
A-l,B-lll, C-Il, D -IV[Option ID = 2370]
A-lIl,B-Il, C-l,D-IV[Option ID = 2371]
A-IV,B-Il, C-l, D -lll [Option ID = 2372]

A W N -

Correct Answer :-
e A-lll,B-I,C-ll,D-IV[Option ID = 2369]

68) Match List | with List Il

List | List Il

Painting Artist

A. Goverdhan I. Jatin Das

B. Pabuji Rathore Il. Manjit Bawa

C. Surya Namskar Ill. Kripal Singh Shekhawat|
D. Himalaya IV. Nikolas Roric

Choose the correct answer from the options given below:

et -1 1 g -1l A g i

oxe -1 oxeht -1l

(diféa2T) (wenoR)

A. siiaefor |. siférorerar

B. urgstl rdis 11, Fisha arar

C. I sTIPR Ill. @yurer Biz draraa
D. faarera IV. forpierRt Afsd

oif<l fSu are fawedl 3 A A8 3R gfore :
[Question ID = 594][Question Description = S2_qSNz_PG_VIS_Q68]

A-lll,B-1,C-IV,D-ll [Option ID = 2373]
A-ll,B-lll,C-l,D-IV[Option ID = 2374]
A-IV,B-Il,C-lll, D -I[Option ID = 2375]
A-1,B-lll,C-ll,D-IV[Option ID = 2376]

A W N -

Correct Answer :-
e A-lll,B-I,C-IV,D-Il [Option ID = 2373]

69) Match List | with List Il

List | List Il
Paintings 'Years




A. Sati 1. 1870 AD

B. Bharat Mata 11. 1905 AD
C. Shakuntala Ill. 1940 AD
D. Last Supper IV. 1943 AD

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - | et -1
(tifeoat) (a)

A. axcdt 1. 1870 $.u.
B. sr=e Jarer Il. 1905 $.u.
C. ormorcn 1. 1940 £u.
D. circ AUz IV. 1943 su.

offa fou s1o frpeul 3 3 A IR gforw ©
[Question ID = 595][Question Description = S2_qSNz_PG_VIS_Q69]

A-IV,B-Il, C-l,D -l [Option ID = 2377]
A-Il,B-IV, C-l,D -l [Option ID = 2378]
A-l,B-lll, C-ll, D -IV[Option ID = 2379]
A-ll, B -, C-IV, D -ll [Option ID = 2380]

A W N -

Correct Answer :-
® A-IV,B-Il,C-l,D-Ill [Option ID = 2377]

70) Match List | with List Il

List | List Il

A. Frankmason Robinson |l. ‘Coco-Cola’ logo

B. Henri Kay Henrion Il. 'KLM airlines’ logo

C. Paula Scher Ill. 'Citi' logo

D. Sagi Haviv IV. ‘Library of Congress' logo

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ot -1 it -1l

A. B aaAAcTATIoHol |. "®IoT D’ cisi

B. 3o1dt & Faif¥ifer Il." & wer wat WBRCIEA' sl
C. dfcr 9r Il. 'R1é’ cen

D. sl adla IV. ' arégdl siie wisjr celt

il fou s1e frseul 3 ¥ A IR gforw ©
[Question ID = 596][Question Description = S2_qSNz_PG_VIS_Q70]

A-1,B-Il, C-lll, D -IV [Option ID = 2381]
A-ll ,B-Ill, C-IV, D -l [Option ID = 2382]
A-lll, B-lv, C-l,D-Il [Option ID = 2383]
A-IV, B -, C-Il, D-Ill [Option ID = 2384]

A W N -

Correct Answer :-
e A-1,B-Il,C-lll,D-IV[Option ID = 2381]

71) Match List | with List I

List | List Il

A. Old spice I. Vishwas Kare

B. ICICI Bank Il. Khayal Aapka

C. Lux Cozi lll. Apne Luck Pehen ke Chalo|
D. Kinley IV. Smell Fantastic

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

oret -1 oreh -

A. 3iics FursAa |. frearT A

B. 3 2l amg it 3f Jp Il. Ia=IeT 3mudT

C. cia Pisit lll. srgen cicd ugel & e
D. fosoct IV. el wecicd

il f3u o1e fyseul 3 3 A8 IR gfom ©



[Question ID = 597][Question Description = S2_qSNz_PG_VIS_Q71]

A-l,B-Il, C-Ill, D -IV [Option ID = 2385]
A-Il,B-Il, C-IV, D -l [Option ID = 2386]
A-lll,B-Il, C-I, D -IV[Option ID = 2387]
A-IV,B-Il, C-lll, D -l [Option ID = 2388]

A W N -

Correct Answer :-
® A-l,B-Il,C-Ill,D-IV[Option ID = 2385]

72) Match List | with List Il

List | List Il

A. Levigator I. Relief Printing
B. Potassium Dichromat |Il. Etching

C. Soft ground Ill. Lithograph

D. Brayer IV. Screen printing

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxel -1 et -1l
A. afiere: I. Rfers fjfeer

B. UifORIA SIZMIAC Il. ofeier

C. 3l JJ[Us 1. forcmargur (ferelsyw)
D. gr= IV. Fastor fjfeer

oif<l feu o1e fpedl 3 A A8 3R gfore :
[Question ID = 598][Question Description = S2_qSNz_PG_VIS_Q72]

A-ll ,B-lll,C-IV,D-I[Option ID = 2389]
A-ll,B-IV, C-lll, D -l [Option ID = 2390]
A-lll, B-IV, C-Il, D-I[Option ID = 2391]
A-lll,B-Il,C-IV, D -l [Option ID = 2392]

A W N -

Correct Answer :-
e A-ll,B-Ill,C-IV,D-I[Option ID = 2389]

73) Match List | with List Il

List | List Il

A. Fairy tales of Purba Palli |. Raja Ravi Varma

B. Birth of White Rose Il. Anupam Sud

C. Shakuntala Patralekhan |lll. K. G. Subramanyam
D. Autumn IV. Somnath Hore
Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma B

Rret -1 rxeht -1l

A. B3 2car 3 ggar ucell I, st A qat

B. s¢f sifw carse st Il. sroquar g

C. 9ra3Aen Udcidol I, @. Sfi. Jgperv=rer
D. smeH IV. e R

il fou o1e fyscul 3 A A I gfom :

[Question ID = 599][Question Description = S2_qSNz_PG_VIS_Q73]
1. A-IV,B-Il,C-lI,D-ll

[Option ID = 2393]
2. A-Il,B-Il,C-1,D-IV

[Option ID = 2394]
3. A-IV,B-lll,C-1,D-ll

[Option ID = 2395]
4. A-Il,B-IV,C-l,D-I

[Option ID = 2396]

Correct Answer :-



® A-IV,B-Il,C-l,D-lll
[Option ID = 2393]

74) Match List | with List Il

List | List Il

A. Subodh Gupta I. Maiya as an Arrow
B. Sudarshan Shetty Il. Sky Mirror

C. K. S. Radhakrishnan |lll. Flying Bus

D. Anish Kapoor IV. Geheri need
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rt -1 il

A. Feer sgar |. AR ST Got Q3
B. Jcofor ol Il. p1$ Bz

C. . GA. AL Il wersgst &1

D. sroftor pyz IV. 338 ofis

oiil f¢u are famedl 3 A A8 IR gfore :

[Question ID = 600][Question Description = S2_qSNz_PG_VIS_Q74]
. A-ll,B-IV, C-lll, D -I[Option ID = 2397]

. A-l,B-ll,C-IV, D -l [Option ID = 2398]

1
2
3. A-IV,B-lll, C-I, D -ll [Option ID = 2399]
4. A-lll,B-l,C-Il, D-IV[Option ID = 2400]

Correct Answer :-
e A-ll,B-IV,C-lll,D-I[Option ID = 2397]

75) Match List | with List Il

List | List Il

A.Flux I. Metamorphic rock
B. Eboxy Il. Igneous rock

C. Basalt Ill. Promoting Fusion
D. Lapis Lazuli [IV. Variety of wood

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 il

A. Feraa |. ®rIaia dia
B. siraoR1 Il. smor 9ret

C. S=aIce Il Forctor Haeker
D. ofiet 301 @1 ucerR (SiftRT diggers) IV. @reo &t fosea

ofiax 3w o1 el 3 A At I gfom :
[Question ID = 601][Question Description = S2_qSNz_PG_VIS_Q75]

1. A-Il,B-l, C-lll, D -IV [Option ID = 2401]
2. A-lll, B-IV, C-Il, D -l [Option ID = 2402]
3. A-l,B-lll, C-IV, D -ll [Option ID = 2403]
4. A-IV,B-Il, C-l, D -lll [Option ID = 2404]

Correct Answer :-
e A-ll,B-I,C-Ill,D-IV[Option ID = 2401]

76) Arrange the following Buddhist sites according to their location from North to South.
A. Amaravati

B. Sanghol

C. Harvan

D. Sanchi

Choose the correct answer from the options given below
IR A SfEmr Rom 3 g5 Fercil Bl 3ol FeITel @ 3IGRIR RIaf¥erd o3

A. sERTacdt



B. Jidia
C. srai
D. it
il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 602][Question Description = S2_qSNz_PG_VIS_Q76]
1. A,B,C,D

[Option ID = 2405]
2. B,C,A,D

[Option ID = 2406]
3. C,B,D, A

[Option ID = 2407]
4.D,B,C, A

[Option ID = 2408]

Correct Answer :-
e A/B,C,D

[Option ID = 2405]

77) In Indo-Islamic Architecture portals are considered important monuments, Arrange the following portals (Darwaza) in
chronological order
A. Rumi Darwaza

B. Buland Darwaza
C. Dakhil Darwaza
D. Alai Darwaza

Choose the correct answer from the options given below

MR - scnfdics argfdrey 3 garsil ®) Ascayul FARD AlGH SIIl 3 DICTRHTIHR SR
A. it gears

B. gcic carsn

C. eif¥aet gearsn

D. sreiré grarst

ofid o s1u fwsedl & A A8 IR BT WRI6l BT :

[Question ID = 603][Question Description = S2_qSNz_PG_VIS_Q77]

A, B, C, D [Option ID = 2409]
B, C, A, D [Option ID = 2410]
C, B, D, A [Option ID = 2411]
D, C, B, A [Option ID = 2412]

A W N -

)

Correct Answer :-
e A, B, C, D[Option ID = 2409]

78) Select the correct chronological sequence of the artists.
A. Jackson Pollock

B. Willem de Kooning

C. Mark Rothko

D. Robert Morris

Choose the correct answer from the options given below

forgatferRaa ePRI @I FEl PITRIAGRIR Py ©
A. Siazrer DIl

B. fafermr ¢ wfoist

C. I AerdY

D. zaé Ay

il f3u a1 fraseul 3 A W IR BT Il HIRIE ©



[Question ID = 604][Question Description = S2_qSNz_PG_VIS_Q78]

B, A, D, C [Option ID = 2413]
C, B, A, D [Option ID = 2414]
C, A, B, D [Option ID = 2415]
A, B, D, C [Option ID = 2416]

A W N -

)

Correct Answer :-
e B, A, D, C [Option ID = 2413]

79) Select the correct chronological sequence of the Artists:
A. K. G. Subramanyam

B. Chitto Prasad

C. A. R. Chugtai

D. Somnath Hore

E. J. Swaminathan

Choose the correct answer from the options given below

forgoiferRaa werdRI @ J8l BICTRA DI TRIol HIfSTU ©
A. . Sit. FgEIvRE
B. frdgRie

C. v, 3R. PorTs
D. 3rerer 3R

E. 3. Faifdretrerct
ofia f3u a1g faaseul 3 A I8 IR DI TR BRI

[Question ID = 605][Question Description = S2_qSNz_PG_VIS_Q79]

1. A, B, C, E, D [Option ID = 2417]
2. B, C, D, A, E [Option ID = 2418]
3. C, B, A, D [Option ID = 2419]

4. E, B, A, C, D [Option ID = 2420]

Correct Answer :-
e A B, C, E, D[Option ID = 2417]

80) Choose in descending order the most successful animated films ever made in terms of collection made by them:

A. Zootopia

B. Incredibles Il

C. Minions

D. Frozen Il

E. The Secret Life of Pets

Choose the correct answer from the options given below

forraiferRaa raifire awer Isha (ufories) fiscal Bl IoId> HaRIoT B 3IGRIR Ioldl AGCIAl D FARIE! @I 3 P &

A. SRR

B. soafsaczll

C. faforiar

D. msior

E. 5 i@ carse sifw g

ofiY f3u a1 fameul A A A8l Iz B oRIaTl HIfSIU

[Question ID = 606][Question Description = S2_qSNz_PG_VIS_Q80]
1. A,B,C, D, E

[Option ID = 2421]
2. A,C,E,D,B



[Option ID = 2422]
3. B,AD,EC

[Option ID = 2423]
4. D,B,C, A E

[Option ID = 2424]

Correct Answer :-
e A/B,C,D,E

[Option ID = 2421]

81) Arrange the leading brand across India in terms of weekly ad insertions:
A. Dettol antiseptic liquid

B. Surf Excel easy wash

C. Colgate Dental Cream

D. Kia Sonet

E. Clinic Plus Shampoo

Choose the correct answer from the options given below

forgaiferRaa sEuil §isI @I AT HRA I D fasuel] & ATHRBD fo1d9r B GHAIGRIR PN :
A. 3¢ia ufAfted ferfdas

B. 1% waziet soiiarer

C. ®icelc Sca QI

D. fepam Hfele

E. acfiforp wrt 99y,

il fou s1u frpeul 3 A A IR BT w6l HIfSE ©

[Question ID = 607][Question Description = S2_qSNz_PG_VIS_Q81]

1. A, B, E, C, D [Option ID = 2425]
2. A, E, C, B, D [Option ID = 2426]
3. A, D, B, E, C [Option ID = 2427]
4. A, C, B, D, E [Option ID = 2428]

Correct Answer :-
e A B, E, C, D[Option ID = 2425]

82) Choose the correct chronological order of printmaker:
A. Toulouse Lautrec

B. Emil Nolde
C. Erich Heckel
D. Edvard Munch

Choose the correct answer from the options given below

BIUI BCIDRI DI DICIRIATRAR TRI6l D3 ©

A. qga gdo

B. ufdret ollcs

C. cho 3da

D. wsas s

il fou s1u freseul 3 3 I IR @I a6l Pl ©

[Question ID = 608][Question Description = S2_qSNz_PG_VIS_Q82]

D, B, A, C [Option ID = 2429]
D, A, B, C [Option ID = 2430]
D, B, C, A [Option ID = 2431]
D, A, C, B [Option ID = 2432]

)

)

1.
2.
3.
4.

» Ay

Correct Answer :-
e D, B, A, C [Option ID = 2429]

83) The correct sequence of the screen printing process:



A. Prepared the screen
B. Design prepared

C. Emulsion applied

D. Exposed through light

Choose the correct answer from the options given below

Il fYfest o A3l g ©

A. Fafel TRIR Bl

B. f3sirsol dRaR @2l

C. sacAa TPl

D. g&191 @& GRI TaIUlSl Boll

il fou s1u fyepeul 3 A A IR BT a6l HIfSIE ©

[Question ID = 609][Question Description = S2_qSNz_PG_VIS_Q83]

B, C, A, D [Option ID = 2433]
A, B, D, C [Option ID = 2434]
B, A, C, D [Option ID = 2435]
A, C, B, D [Option ID = 2436]

A W N -

)

Correct Answer :-
e B, C, A, D [Option ID = 2433]

84) Select the correct sequence of stones from softer to harder.
A. Lime Stone

B. Sand Stone

C. Granite Stone

D. Soap Stone

Choose the correct answer from the options given below

forgaifeiRaa ucerR] @l o3 3 DOk D S Gt A oPIT

A. golt uceR

B. sqam urer

C. 3)olrse uceR

D. 3 ucer

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 610][Question Description = S2_qSNz_PG_VIS_Q84]

D, A, B, C [Option ID = 2437]
A, B, C, D [Option ID = 2438]
B, C, D, A [Option ID = 2439]
C, D, A, B [Option ID = 2440]

A W N -

» Yy

Correct Answer :-

e D, A, B, C [Option ID = 2437]

85) Select the correct sequence in escalating order of resistance to corrosion.
A. Tin

B. Copper
C. Iron
D. Aluminium

Choose the correct answer from the options given below

forgaifciRaa @1 ASMRUT (PRISIE) YfeRIer & IR @ 3 ¢oIm :
A. o
B. amy (@dfaR)



C. dis

D. wcgfdiforma

il fou o1 fraseul 3 3 A IR BT w6l HISIE ©

[Question ID = 611][Question Description = S2_qSNz_PG_VIS_Q85]

B, C, A, D [Option ID = 2441]
D, B, C, A [Option ID = 2442]
. C, A, D, B [Option ID = 2443]
A, D, B, C [Option ID = 2444]

A W N -

)

Correct Answer :-
e B, C, A, D [Option ID = 2441]

86) Given below are two statements

Statement I: Gustave Courbet said, "Painting is essentially a concrete art and must be applied to real and existing things".

Statement II: He was against the scenes from traditional history, mythology and religion. He was thus a man of ground
reality.

In light of the above statements, choose the correct answer from the options given below

ofiI <1 perer Ru sme 3 ¢

@l - | : seidra md of @al i Rigaen aenefuzd gefl anfd?r siiz Sramr Hien Ssra ar<fam ucrel A o aifde
Do - || : @ Rueea MeriRie, frerdi ik enfdfe 9l @ sidbal d Rvg a  sraua d demefardt a

WP Dl @ sl 3, ofi fu a1 fraseul 3 A J& IR @1 TRIaT HifSre :

[Question ID = 612][Question Description = S2_qSNz_PG_VIS_Q86]
1. Both Statement | and Statement Il are true/@ermr | iz || Sloil 31cer &

[Option ID = 2445]
2. Both Statement | and Statement Il are false/a@erer | iz || Sloil sRicT &

[Option ID = 2446]
3. Statement | is true but Statement Il is false/@ermer | 311 8 , fpoq @ermt || sRier &

[Option ID = 2447]
4. Statement | is false but Statement Il is true/memt | srpic 8, fbog wewer || 1 &

[Option ID = 2448]

Correct Answer :-
e Both Statement | and Statement Il are true/wmemer | siiz |1 ol Jieer 3

[Option ID = 2445]

87) Given below are two statements
Statement I: Rabindranath Tagore painted mostly self-portraits in the last phase of his life.
Statement Il: He was never inspired by Freudian Psychoanalytical theories.

In light of the above statements, choose the most appropriate answer from the options given below

il Gl el féu are 3 :

Do - | : ¥diogetrer SolI= of 3Uol Sitdel @ 3iferd aruT 3 siferpar TRl & Juflg dere
@l - || : d ool oft prIsSard] #Helifireayur Rigidl A gfa ordl gu
SURITP Bl D 3MIelld 3, ofidl f&u s1u farseul 3 A I 3= @1 ol HifSte ¢

[Question ID = 613][Question Description = S2_qSNz_PG_VIS_Q87]
1. Both Statement | and Statement Il are correct/erwr | 3iiz |1 el 31 &

[Option ID = 2449]
2. Both Statement | and Statement Il are incorrect/aerat | 3iiz |l Soll 3RIT 3

[Option ID = 2450]



3. Statement | is correct but Statement Il is incorrect/wmepol | 11 &, fvog weel || 3R &

[Option ID = 2451]
4. Statement | is incorrect but Statement Il is correct/@ermr | sric 8, fipog werer |l A 8

[Option ID = 2452]
Correct Answer :-
e Both Statement | and Statement Il are correct/wmermt | 3iiz 11 Gloll 3 &

[Option ID = 2449]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Typography is important in communication design.

Reason R : Typography is the visual representation of the written word. It reinforces the meaning of text and makes it more
clear and legible.

In light of the above statements, choose the correct answer from the options given below

ofl 3l ool fRu s1e 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

siffrperet (A) : QU sifdrascu 3 ersu fen Ascayget 3

@RI (R) : ersu faen ferf3aa oreg &bl angiy (frsparen) yadfer 3 s ure @ sref @l Aeg @l 8 3l 3 sifdr Fucc 3iiz uoofir dorredl 3
WP Dl @ sl 3, ofid 3w a1 fraseul 3 A A& IR @I TRIaT HifSre :

[Question ID = 614][Question Description = S2_qSNz_PG_VIS_Q88]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) giail 3@t 3 32 (R), (A) &t A& =men 8

[Option ID = 2453]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2@t & weeg (R), (A) 6l et =i oiet 8

[Option ID = 2454]
3. Ais true but R is false/(A) 3@t 2 weog (R) &t ot 8

[Option ID = 2455]
4. Ais false but R is true/(A) 3@ oidt 3 woqg (R) 3t 3

[Option ID = 2456]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) glail 3@t & 3k (R), (A) 6t 3@ e 8

[Option ID = 2453]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Raja Ravi Varma is an eminent painter and printmaker in the history of Indian Art.
Reason R: He was notable for making affordable oleographs and lithographs of his paintings.

In light of the above statements, choose the most appropriate answer from the options given below

oii<l < ool fGu are 3 : o sifdrpes (Assertion A) @ wu 3 3R ¢RI 3AD BRI (Reason R) @& »u & :

sifdrperet (A) : st A qat sRdRr oo & sfierR 3 v o RIgoR 3z Rjcdw: 3

@RuT (R) : A sruofl Senaieril I 3131 STol DI IucTet] BAo! D e el RIgl @ siferRIeE 3iiz Rrelspw ool & fére glig
SWRIFP Dol D 3MIclld #, ofld 3w s1u frapedl 3 A A8 Ia? @1 wrI6t HifSte :

[Question ID = 615][Question Description = S2_qSNz_PG_VIS_Q89]

Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@l & 3z (R), (A) &t 3@ wmen 8 [Option ID = 2457]

Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) @il 3 & u3sq (R), (A) 6t 3 =me=n oidf 8 [Option ID = 2458]
A is correct but R is not correct/(A) & @ useq (R) @ orét & [Option ID = 2459]

A is not correct but R is correct/(A) 3@t aidl 8 usoq (R) 3@t 8 [Option ID = 2460]

A W N -

Correct Answer :-
® Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil @t & 3z (R), (A) &t 3@ =mz=n & [Option ID = 2457]

90) Given below are two statements
Statement I: Ram Kinkar's sculpture is characterized by tremendous energy, exuberance and vitality.

Statement Il: Because he was saturated with an intense love for life.



In light of the above statements, choose the correct answer from the options given below

ofid <1 weror Ru se 3 :

@l - | : aafpm: @ Ffef farcu &t fafdrsear 3 sreaferas eif, yeear a Sftaeaan
e - |1 : aiifs A Sfiaor @ gfer s1sor Yar A g A

JURITP DYoll B 3Tl 3, ol [Su 31u fameul 3 A A8l 3= @1 =6t HifsTe ©
[Question ID = 616][Question Description = S2_qSNz_PG_VIS_Q90]

Both Statement | and Statement Il are true/eemr | siiz |l Sr6if 3t & [Option ID = 2461]

Both Statement | and Statement |l are false/emr | 3iiz || Glail steta & [Option ID = 2462]
Statement | is true but Statement Il is false/@perwr | 3 @ , foq @erer |l swerea & [Option ID = 2463]
Statement | is false but Statement |l is true/eml | sRIcI 8 , fbog e || 3@t & [Option ID = 2464]

AN wN -

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siz |l Greif 23t & [Option ID = 2461]

Topic:- VisualArt_SHAAN_NOV21B
1) Study the given image and answer the questions that follow

e e 7rv R & caeEs & 3 3w 9 st meAt & SR &S -

What is this work of Art?

s aAI Delipia 3 ?

[Question ID = 617][Question Description = S2_qSNz_PG_VIS_Q91]
1. Drawing/sréer

[Option ID = 2465]
2. Painting/tfcsr

[Option ID = 2466]
3. Etching/gfmer

[Option ID = 2467]
4. Poster/drRe:

[Option ID = 2468]
Correct Answer :-
® Drawing/sr$et
[Option ID = 2465]

2) Study the given image and answer the questions that follow



e fgw 7o R & caeEs & 3 3w I st weAtT & SR &S -

Name the artist of the art work given?
fou 5 e D BADR Dot 3 ?

[Question ID = 618][Question Description = S2_qSNz_PG_VIS_Q92]
1. Jules Cheret/Se1 3¢

[Option ID = 2469]
2. Henri de Toulouse Lautrec/gsmt & gellsl clicd

[Option ID = 2470]
3. Henri Rousseau/3ctst it

[Option ID = 2471]
4. Georges Seurat/snfRr A3

[Option ID = 2472]
Correct Answer :-
e Jules Cheret/geaa e
[Option ID = 2469]

3) Study the given image and answer the questions that follow

e e 7v R & caEs & 3k 3w 91 st weAt & SR &S -

In which medium was it created first?



a8 Adyera fepa aeat 3 Jfora gam e ?

[Question ID = 619][Question Description = S2_qSNz_PG_VIS_Q93]
1. Flexography/ucia=iebt

[Option ID = 2473]
2. Color Lithography/acrz frelsw

[Option ID = 2474]
3. 4- Color Offset/4 e siiwe

[Option ID = 2475]
4. Gravure/sR

[Option ID = 2476]
Correct Answer :-
e Flexography/uctaileybt
[Option ID = 2473]

4) Study the given image and answer the questions that follow

71 faw o Rt eamerqd s 3 3k 39 = s waAt & R i -

Who is "Jane Avril", mentioned in the ‘readline’ text of the image

ofd @ ofitf ure A sfeal¥aa 'Stor sraf¥a’ oler 3 ?

[Question ID = 620][Question Description = S2_qSNz_PG_VIS_Q94]
1. A cabaret singer/dq3 snRbt

[Option ID = 2477]
2. A cancan dancer/@srdgot olcicbt

[Option ID = 2478]
3. A painter/RigorR

[Option ID = 2479]
4. An actress of Hollywood/zrefigs sifdroreft

[Option ID = 2480]
Correct Answer :-
® A cabaret singer/d«3 sufiar

[Option ID = 2477]

5) S&tudyv the given image and answer the guestions that follow



e faw a1 Rt e 3 3k 39 = s waAt & IR &S -

Which movement of art did the artist belong to?

8 DCAIPR Bell D B 3Micictol A AT ot ?

[Question ID = 621][Question Description = S2_qSNz_PG_VIS_Q95]
1. La Belle Epoque/et det vl

[Option ID = 2481]
2. Post-Impressionist/3tR ysiradie

[Option ID = 2482]
3. Abstract Expressionism/ s sifdreisioraig

[Option ID = 2483]
4. Neo-Realism/ora zremefars

[Option ID = 2484]

Correct Answer :-
e La Belle Epoque/er det vdls

[Option ID = 2481]

Topic:- VisualArt_SHAAN_NOV21C

1) Study the given image and answer the questions that follow

A v TR S TS AT AR 39 W smaiE na F TR &




Name the title of the sculpture
Jfet fOrcu o1 ofivfes ey :

[Question ID = 622][Question Description = S2_qSNz_PG_VIS_Q96]
1. Santhal Family/3ienct uf¥arz

[Option ID = 2485]
2. Golden Crop/slicsol @

[Option ID = 2486]
3. Harvestor/zRasc:

[Option ID = 2487]
4. Sujata/Jsirr

[Option ID = 2488]

Correct Answer :-
e Santhal Family/3ierrer uf¥are

[Option ID = 2485]

2) Study the given image and answer the guestions that follow

A T TR S AT TES AT AR 39 W smaie na F 3R afdw:

Who is the sculptor?

JfciPR DI oltd Iare

[Question ID = 623][Question Description = S2_qSNz_PG_VIS_Q97]
1. Pradesh Dasgupta/ygiu grispar

[Option ID = 2489]
2. Sharbari Roy Chowdhary /i€t Rrctest

[Option ID = 2490]
3. Ajit Chakraborty/smfta aaadt

[Option ID = 2491]
4. Ram Kinkar Baij/zmfd®ms Jot

[Option ID = 2492]

Correct Answer :-
® Pradesh Dasgupta/ygu grRsar

[Option ID = 2489]

3) Study the given image and answer the guestions that follow

A v TR S cAT TS AT AR 39 W smaie ma F TR afFw:



Which academic Institution did the artist belong to:
DcIIpR fpA e Jver A Hdfera er ?

[Question ID = 624][Question Description = S2_qSNz_PG_VIS_Q98]
1. Kala Bhavan, Visva Bharati University/act sraot, faea sl faeafdremerr

[Option ID = 2493]
2. M. S. University, Baroda/wd. w2t foralfd, ssier

[Option ID = 2494]
3. Govt. College of Art and Craft, Calcutta/smofdic @Ickst 3l 30 Us MIuc Berbr

[Option ID = 2495]
4. Banaras Hindu University /o1 f8og, fereafdermerr

[Option ID = 2496]

Correct Answer :-
e Kala Bhavan, Visva Bharati University /et s1dot, faea sict faeafremcrr

[Option ID = 2493]

4) Study the given image and answer the questions that follow

¥ o o F taeEs 2w sk 3@ w s met F s e

Name the film director who documented the sculptor’s personality and works of art
32 fibcat for¢9rem @1 oIl g ol Jfel Pietdl & iftbea iz PenpierIl U= fibea Torrs :
[Question ID = 625][Question Description = S2_qSNz_PG_VIS_Q99]

1. Buddhadev Dasgupta/ggda arRefar

[Option ID = 2497]
2. Tapan Sinha/auer Rear

[Option ID = 2498]
3. Ritwik Ghatak/sfeas gew



[Option ID = 2499]
4. Satyajit Ray/irsha 3

[Option ID = 2500]

Correct Answer :-
e Buddhadev Dasgupta/ggda R

[Option ID = 2497]

5) Study the given image and answer the questions that follow

A v TR S TS AT AR 39 W smaiE na F TR &

What was the medium of the sculpture?
Jfef fdrcu o1 AT PBiot 3T B ¢

[Question ID = 626][Question Description = S2_qSNz_PG_VIS_Q100]
1. Stone/ucer

[Option ID = 2501]
2. Cement and Concrete/fldioe vd didsic

[Option ID = 2502]
3. Terracotta/uaq Jferdr (eADdler)

[Option ID = 2503]
4. Wood/®rs

[Option ID = 2504]

Correct Answer :-
e Stone/urer

[Option ID = 2501]

Topic:- GP_25NOV_SH2_A

1) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation [Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees



arferet # U s1U st @ e R gesil @ IR St &

forrarferRaa anférer ufa fireor - fireot Fsroall (A - E) 3 ool & gferera fapisior @ ik ysy a afdcn waani¥Ril o srgqurd ol goridl 3 it
uiq ¥eroal 3 et 35000 wafarsl oria 3

pIaf¥=Il ®1 JHeroorar s :
io1aep (@It BY gfreraar (%)gFu a afden ettt w1 Argqare
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

The total number of employees in Organisation C is approximately what percent of the total number of employees in
Organisation D?

Jio1061 C 31 pafanfy=l bt aget e Horoet D 3 wafanfyl &t aget e o1 cenPI fbdar gferera 3 ?

[Question ID = 2016][Question Description = S2_qSNz_PG_GP20_Q01]
1. 147 %/147 % [Option ID = 8061]
2. 312 %/312 % [Option ID = 8062]
3. 207 %/207 % [Option ID = 8063]
4. 183 %/183 % [Option ID = 8064]

Correct Answer :-
® 147 %/147 % [Option ID = 8061]

2) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

drferept i U 31U 3fipsi @ MR U= Yosll d Ia Sifore :

forgaiferRaa aiferot uia el - feet Jsroall (A - E) 31 sl @ yferera finmsiar oI siiz gsy a #Afden waraniel @ 3ielurd oI goIfdl & sft
ui JHs166ll 9 @el 35000 waferdt Rz 3

DaIisIl a1 AsIooldaR fasirsior
iorger (O BY gRrerTar (%)gFy a Afden watafil T g
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the total number of males in all the five organisations together?
213t uifa Jeroall @l fiene: yul & gger Iz o= 3 ?

[Question ID = 2017][Question Description = S2_qSNz_PG_GP20_Q02]



13350/13350 [Option ID = 8065]
14700/14700 [Option ID = 8066]
15960/15960 [Option ID = 8067]
16280/16280 [Option ID = 8068]

AW N -

Correct Answer :-
e 13350/13350 [Option ID = 8065]

3) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arferept # U 31U sfidpsi @ MR U= gosll d 3az Sifore :

forgsiferRaa anferapt uia freot - freol Jarasil (A - E) 3 wafenf¥=il @ gferorda fasirsier @I 3k yay a Afdel waenf¥=il @ sropurd oI gorlell 3 il
qie o166l 9 et 35000 wararst Rz 3

DRIl DI FdIGoIaR fasirsiol
1oy (O BY gRrerTar (%)gFy a Afden waafl T eI
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the ratio of the number of males in Organisation A to the number of males in Organisation C?

Js1601 A 3 gl &l Jen 3iiz Jerset C 3 gl &l A1 oI siourd a=ar 8 ?

[Question ID = 2018][Question Description = S2_qSNz_PG_GP20_Q03]
18:31/18:31 [Option ID = 8069]

9:31/9:31 [Option ID = 8070]

7:27/7:27 [Option ID = 8071]

9:19/9:19 [Option ID = 8072]

AW N =

Correct Answer :-
e 18:31/18:31 [Option ID = 8069]

4) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation [Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3




Organisation-wise Breakup of Employees

aifert # U s1u st @ SMenR R gosll @ IR difere @

forrarferRaa anferer i fireor - fieol Fsroall (A - E) 3 ool @ gfrera fanisior @ ik ysy a afdcn waaniRil o srgquard ol gorfdl 3 it
qie o166l d el 35000 et Rz 3

eIl @I IdIceIaR farrsiol
sioraor (@RIl B gfereraar (%)'gﬁﬂaaﬁmasﬂmﬁaﬁaﬁa{@um
A 18 % 3:7
B 22% 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the difference between the number of females in Organisation E and the number of females in Organisation B?

Zierool E & aifgarsit &1 Fizean siiz Feroer B & aifgcnsit 1 dizean oot siaz a=m 3 ?

[Question ID = 2019][Question Description = S2_qSNz_PG_GP20_Q04]
1. 210/210 [Option ID = 8073]
2. 350/350 [Option ID = 8074]
3. 170/170 [Option ID = 8075]
4. 300/300 [Option ID = 8076]

Correct Answer :-
e 210/210 [Option ID = 8073]

5) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation [Percentage (%) of Ratio of Male to Female
lemployees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

darferept 3 U 31U 3fipsi @ MER U= Yosll d Ia Sifore :

forgaiferRaa anferot uia Mol - feet ol (A - E) 3 oatanfil @ gferera finmsiar o siiz gsy a #Afdcn waranfel & sieiurd o corfdl & sft
ui< JHa166ll 9 @el 35000 et oRizd 3

il @1 HsIoorar fairster :
iorger [OET BY gReTar (%)/gFy a Afden Wt T e
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the sum total of the number of females in Organisation D and the number of males in Organisation E?



Jis1601 D 3 aifgeaii bl vizean 3iiR vistool E 3 gsul bl Jizcar @I aet AsT o= 37

[Question ID = 2020][Question Description = S2_qSNz_PG_GP20_Q05]
1. 4375/4375 [Option ID = 8077]
2. 4475/4475 [Option ID = 8078]
3. 4500/4500 [Option ID = 8079]
4. 4875/4875 [Option ID = 8080]

Correct Answer :-
® 4375/4375 [Option ID = 8077]

Topic:- GP_25NOV_SH2_B

1) What is the name of the score the student would get if the measurements were completely accurate and error-free?

Aafe syl gulan w1l sz gieda A1, dl fenefl @1 RBrerel arel graie @ o @i 3 ?

[Question ID = 2026][Question Description = S2_qSNz_PG_GP20_Q06]
1. l-score/ams - yraia [Option ID = 8101]

2. Neutral score/dczer ymaics [Option ID = 8102]

3. True score/ardfde yrics [Option ID = 8103]

4. Z-score/3s - ymmics [Option ID = 8104]

Correct Answer :-
® |-score/sms - ymmicd [Option ID = 8101]

2) "Contagious” spreading of behaviours through imitation, is known as

3oIDVI B LA A RIAERI DI "ARIBID" YAR Pacldr 8 -

[Question ID = 2027][Question Description = S2_qSNz_PG_GP20_Q07]
1. Random effect/mefesa yama [Option ID = 8105]

2. Ripple effect/3f3 gama [Option ID = 8106]

3. Scripted effect/feiftag ysma [Option ID = 8107]

4. Norm effect/amer® gama [Option ID = 8108]

Correct Answer :-
e Random effect/urefRe® yama [Option ID = 8105]

3) Given below are two statements

Statement I: In all interactions, a message is sent and a message is received. Sometimes teachers believe they are sending
one message, but their voices, body language, choice of words, and gestures may communicate a different message.

Statement II: To deal with cyberbullying, parents should be encouraged to keep computers in a public room in the house.

In light of the above statements, choose the most appropriate answer from the options given below

oflar <Y averet feu s1e 3 ¢

@l - | 1 19l sreeilcatpsil 3 v 91 Qftid o= Sirer 3 3l wp AS9I @I 3ifSsaur fop sirar 3 @l - sl 181 airera 3 fb d wap ATor
951 38 3, URq A 3 fob Iorchl 3MrarsI, IR HIHI, 916Gl I <RIol 3R HId HBRIG BB 16T ST AYFIA Dl 3f

@l - |l : ATyl A forucol @ 1w BRI DI 1R D AdSIfore el d el D fore siftnirawml oI Qenfda wen afze
SURITP Bl B 3MIelid 3, ofldl f&u s1u fraseul 3 A I 3= @1 ot HifSte &
[Question ID = 2028][Question Description = S2_qSNz_PG_GP20_Q08]

Both Statement | and Statement Il are correct/@emt | 3iiz |l cleil 28 & [Option ID = 8109]

Both Statement | and Statement Il are incorrect/aermer | 3iiz || Glsil steta & [Option ID = 8110]

Statement | is correct but Statement Il is incorrect/@emwt | 3@t 8, fpoq @l |l sera & [Option ID = 8111]
Statement | is incorrect but Statement Il is correct/@ewt | s1cia 3, fipoqg @erwer |1 3t & [Option ID = 8112]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | 3iR |1 gloii 28t & [Option ID = 8109]

4) Match List | with List Il

List | List Il

Ericson's Psycho-social development [Stage

A. Intimacy vs. Isolation I. Normally after retirement
B. Ego integrity vs. Despair Il. Much of adulthood

C. Generativity vs. Stagnation Ill. During adolescence

D. Identity vs. Confusion IV. During the 20s




Choose the correct answer from the options given below:

et -1 B e -1l A @ i

et -1 il

(efaaet 16l - AEfSID fadmrT) (<rRv1)

A. aforsedr dottal wdIhiue |. AArIeIa: Aaforghl & ac
B. 3189 AATTCOT I $FGIION Il. = Shiael @ &3 33A A
C. STololIcaIchdl Jolldl STfcrdlotar lll. foponerazem 3

D. sif¥arcr gotmar sfifoa IV. 20 A 29 o &t 3Ry 3t

offa fou s1o fRrpeul 3 3 A I gforw ¢
[Question ID = 2029][Question Description = S2_qSNz_PG_GP20_Q09]

A-1V,B-1,C-1l,D- Il [Option ID = 8113]
A-1,B-1I,C-1ll, D - IV [Option ID = 8114]
A-11,B-1ll, C- 1V, D - | [Option ID = 8115]
A-1ll,B-1V,C-1,D - Il [Option ID = 8116]

A WN -

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 8113]

5) Which among the following are components of decision traps to illustrate what needs to be a possible evaluatory
framework to monitor the learning process?

A. Overconfidence

B. Coaching

C. Frame blindness

D. Taking shortcuts

E. Persistent misconception

Choose the correct answer from the options given below:

aifeerI yfeprn &l foreriell @ fére i IcAideIcd® Gidr a1 8l, A6 gollol d 3moiardl forvfa wel (BR1ster Su) & ace forwafelRaa 3 A ®let
g7

A. siferara

B. arqforgior

C. B F3ieran

D. 9if¢ - we dlor

E. Ferfl fre=mm - emeom

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2030][Question Description = S2_qSNz_PG_GP20_Q10]

A, C and D only/dsaet A, C siiz D [Option ID = 8117]
A, D and E only/@aet A, D siiz E [Option ID = 8118]
B, D and E only/dsaet B, D siiz E [Option ID = 8119]
B, C and D only/a@aet B, C siiz D [Option ID = 8120]

AW N -

Correct Answer :-
e A, Cand D only/aac A, C siiz D [Option ID = 8117]

6) The rationalistic mode of knowledge accepts the rules of

Siiel @I gigarél YR fpds forer Atelar 3 ?

[Question ID = 2031][Question Description = S2_qSNz_PG_GP20_Q11]
1. Legality/dear [Option ID = 8121]

2. Manipulation/gwz [Option ID = 8122]

3. Logic/amemq [Option ID = 8123]

4. Authority/zrar [Option ID = 8124]

Correct Answer :-
® |egality/dear [Option ID = 8121]

7) Which of the following reliability techniques are used in qualitative research?

A. Diachronic reliability



B. Quixotic reliability
C. Synchronic reliability
D. Holsti's constant

E. Chronbach's alpha

Choose the correct answer from the options given below:

forgotferRaa 31 3 Pl - 2l frraz=rar awoila! 1 YT Jpuicar 9ner 3 fopan siar 3 ?
A. orrafis frareiRan

B. srcasifse fararteiiRiar

C. vwoifers frariiizar

D. 3fcedt @1 3R

E. @fcrar® @1 3icw1

i) feu s1u famedl 3 A A8 IR D1 TRIe BRI :

[Question ID = 2032][Question Description = S2_qSNz_PG_GP20_Q12]

1. A, B and C only/dact A, B siiz C [Option ID = 8125]
2. B, Cand D only/aaer B, C siiz D [Option ID = 8126]
3. C, DandE only/a@ae C, D siiz E [Option ID = 8127]
4. A, Cand E only/d@5aet A, C siz E [Option ID = 8128]

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 8125]

8) Which of the following are the essential characteristics of the case study method?
A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:

forgstfeiRaca af A Dlol-A DA-31eRIor fafey &t siforart fadruam 3 ?

SIPRICHAD DI 3R Iog

A.
B. Freca 3ot i 3R Soqa
C. fafdrscarardt

D. avicicas

E. smeReicas

il fou s1e freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2033][Question Description = S2_qSNz_PG_GP20_Q13]

1. A, B and C only/dsaet A, B siiz C [Option ID = 8129]
2. B, C and D only/dsaer B, C iz D [Option ID = 8130]
3. C,DandE only/aqe C, D iz E [Option ID = 8131]
4. A, B and E only/daet A, B iz E [Option ID = 8132]

Correct Answer :-
® A, Band C only/aaet A, B siiz C [Option ID = 8129]

9) Given below are two statements
Statement I: Qualitative research is impressionistic and subjective.
Statement Il: Quantitative research has a higher level of possibility of generalising the findings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru sme 3 :
@erel - | @ JUIeHT 9fter YuIaardt siiz fersriforss aiar 3



@l - |l : uf¥ewneam oner 3 sucfeeril @l AHIIIDd Dol Bl Jeaar Far &I Asraen Bidl 3
SURITP Bl D 3Tl 3, ofidl f&u s1u fraseul 3 A I8 a2 @1 ot HifSte &
[Question ID = 2034][Question Description = S2_qSNz_PG_GP20_Q14]

Both Statement | and Statement Il are true/@merer | 3 || Sloil 31 & [Option ID = 8133]

Both Statement | and Statement Il are false/@ermr | 3iiz || Glail i1 & [Option ID = 8134]
Statement | is true but Statement Il is false/wmem | 311 8, fbog weret |l sRicr & [Option ID = 8135]
Statement | is false but Statement Il is true/memr | 3srRica &, fboq @t || A= & [Option ID = 8136]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@emr | 3i 11 Gleil 31 & [Option ID = 8133]

10) Match List | with List Il

List | List Il

Scale Characteristics

A. Arbitrary Scale I. Attitude statements are decided by judges

B. Thurstone Scale Il. Summated ratings

C. Likert Scale lll. Consists of seven spaces between two bipolar adjectives
D. Semantic differential IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -1 il

(Frerft) (froreyem)

A. srees amuofl ||, sifrgfer sifSrerell @ forofn formasvil gt fdvan sirar @
B. erclol syt |ll. Frerefera wife - forerizor

C. ferd amuoht  |l1l. 5219t Q1 ez fadruvil & dfa A1 siaRre a8l &

D. orecref farices |IV. gesil 1 arRIel Yeiopifae 3mem aiar 3

ofid R s1e feal & A 78 IR gfome :

[Question ID = 2035][Question Description = S2_qSNz_PG_GP20_Q15]

A-1,B-1I,C-Ill, D - IV [Option ID = 8137]
A-1V,B-1,C-1l,D- Il [Option ID = 8138]
A-1ll,B-1V, C-1,D - Il [Option ID = 8139]
A-11,B-1ll, C- 1V, D - | [Option ID = 8140]

A W N -

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 8137]

11) Media kits are used in

i fopel (3maga avqil) oI et fpiel aiar 8 ?
[Question ID = 2036][Question Description = S2_qSNz_PG_GP20_Q16]

Confidential communication/shuofler 2igwor [Option ID = 8141]
Internal communication/stiaf¥e 2iYwur [Option ID = 8142]
Classroom communication/asn 2iguur [Option ID = 8143]
External communication/arar 3iuur [Option ID = 8144]

A WN -

Correct Answer :-
e Confidential communication/shusfler 2igwur [Option ID = 8141]

12) Non-verbal communication makes use of-
A. Behaviour to generate meanings

B. Emotional meanings

C. A non-clear system of rules

D. Verbal finessé

E. Clarity in abstraction

Choose the correct answer from the options given below:

sionfecd AYHUT febeIdT GRIST Bl & ?
A. 31ef Scuocol B B 18 =IasrR

B. smaoticaras sref



C. formil &t 317 - Fuse yyedt

D. onféca wiorer

E. = spgur 3 Juscar

i) feu s1u famedl 3 A A8 IR D1 WRIet BRI :

[Question ID = 2037][Question Description = S2_qSNz_PG_GP20_Q17]

A, B and C only/d@act A, B siiz C [Option ID = 8145]
B, C and D only/adaet B, C siiz D [Option ID = 8146]
C, D and E only/asaet C, D siiz E [Option ID = 8147]
A, B and E only/d@aet A, B 3iiz E [Option ID = 8148]

AW N =

Correct Answer :-
® A, Band C only/aac A, B 3iiz C [Option ID = 8145]

13) A competent communicator is
A. Culturally neutral

B. Culturally sensitive

C. Totally ethical

D. Situationally ethical

E. An effective listener

Choose the correct answer from the options given below:

HEH YU =T BT & ?

A. AFDiae U A dcre

B. At wu 3 Fdcarefiar

C. guiamnr sifer

D. Refer @& IR sifera

E. v gurdt ofier

il fou s1u frpeul 3 A W 3R BT a6l HIfSIE ©

[Question ID = 2038][Question Description = S2_qSNz_PG_GP20_Q18]

. A, Band C only/asaet A, B siiz C [Option ID = 8149]
. B, Cand D only/daer B, C iz D [Option ID = 8150]
. B, Cand E only/dsaet B, C siiz E [Option ID = 8151]
. C, D and E only/daea C, D siiz E [Option ID = 8152]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8149]

14) Information provided before sending the primary message is known as

qrefdre A or Astol A uscl Sl Sirel arefl A6l Y Do 3 -

[Question ID = 2039][Question Description = S2_qSNz_PG_GP20_Q19]
1. Intro/uf¥a=r [Option ID = 8153]

2. Indicator/3i@am [Option ID = 8154]

3. Pre-message/qd - 3ot [Option ID = 8155]

4. Feed forward/smy gftc (s wizas) [Option ID = 8156]

Correct Answer :-
e Intro/uf¥c= [Option ID = 8153]

15) Given below are two statements
Statement I: People use non-verbal cues more than verbal cues.
Statement II: Non-verbal cues have better believability than spoken words.

In light of the above statements, choose the correct answer from the options given below

ofid <Y weror fu arw 3 :
@erel - | : el enfega Al A Sifird sionfecam ADdl I YRIBT B &
werd - || : sronféca Iidddet 3 aifira orecl bt e JaaR frareiRiar ardt 3



SURITP Bl @ 3Tl 3, ofldl f&u s1u fseul 3 A @ 3= @1 w61 HifSte @
[Question ID = 2040][Question Description = S2_qSNz_PG_GP20_Q20]

Both Statement | and Statement Il are true/mesr | 3R |l Si6il Aa=r & [Option ID = 8157]

Both Statement | and Statement Il are false/@emr | 3iiz || Gleif sricer & [Option ID = 8158]
Statement | is true but Statement Il is false/wepl | 311 8, fpoq @eret |l sRI=r & [Option ID = 8159]
Statement | is false but Statement Il is true/evermer | 3R 8, fbog @erer || 3 & [Option ID = 8160]

A WN -

Correct Answer :-
e Both Statement | and Statement |l are true/@emr | 3iR 11 Glell i & [Option ID = 8157]

16) What number should replace the question mark(?)?

3529, 64, 9817, 115, 3257, ?

fop=1 Jie=n @ gRI Yssifiie ol yzanfud fos=n ston anfsu ?
35, 29, 64, 98, 17, 115, 3257, ?
[Question ID = 2041][Question Description = S2_qSNz_PG_GP20_Q21]

1. 126/126 [Option ID = 8161]
2. 89/89 [Option ID = 8162]
3. 98/98 [Option ID = 8163]
4. 146/146 [Option ID = 8164]

Correct Answer :-
® 126/126 [Option ID = 8161]

17) A man weighs 75% of his own weight plus 39 Ibs. How much does he weigh?

TP Afth @I dolol, 31Ul ¥a @ dolol @I 75% 3z 39 usvs 3 33D dRrdfdd dsiol o=l 3 ?

[Question ID = 2042][Question Description = S2_qSNz_PG_GP20_Q22]
165 Ibs/165 uus [Option ID = 8165]
160 lbs/160 ukvs [Option ID = 8166]
156 Ibs/156 uus [Option ID = 8167]
166 lbs/166 uus [Option ID = 8168]

A W N -

Correct Answer :-
® 165 lbs/165 ukus [Option ID = 8165]

18) Ravi's salary is increased by 20%. On the increased salary, the tax rate is 10% higher. The percentage increase in tax
liability is

el 1 deaet 20% sa1 {61 SR 96 g8 dddol UR @R Dl 62 10% Sarer Sl & @2 Sar 3 yfarord gfig 3 :

[Question ID = 2043][Question Description = S2_qSNz_PG_GP20_Q23]
1. 20 %/20% [Option ID = 8169]
2. 22 %/22% [Option ID = 8170]
3. 23 %/23% [Option ID = 8171]
4. 24 %/24% [Option ID = 8172]

Correct Answer :-
e 20 %/20% [Option ID = 8169]

19) Given below are two statements
Statement I: A 60 m long train passes a 90 m platform in 10 seconds. The speed of the train is 45 km/hour.

Statement Il: If the ratio of the speeds of A and B is a:b, then the ratio of the time taken by them to cover the same
distance is a:b.

In light of the above statements, choose the correct answer from the options given below

oii<l <1 ool feu a1 3 :

el - | : v 60 Jfice ol YNt v 90 e wiewisd B 10 ABS 3 uR B2 aar 3 IcPns) & are 45 ool / @Her 3
P - |l : A 3fiz B &Y aret &1 siglurd a : b 3; a 31 ERI MI6l g3t kI Bb2al D fore, fore sl PRI I sigfura a : b 3
SWRITD Doll D 3MIelld #, ofld 16w 31w fpedl 3 A A8 Ia= @I wrI6t HIfSte :

[Question ID = 2044][Question Description = S2_qSNz_PG_GP20_Q24]



Both Statement | and Statement Il are true/wmeret | 3 || Gloil 311 & [Option ID = 8173]

Both Statement | and Statement Il are false/@merer | 3iiz 11 @loil ¥ 3 [Option ID = 8174]
Statement | is true but Statement Il is false/®epol | 311 &, fpoq el |l sRI=r & [Option ID = 8175]
Statement | is false but Statement Il is true/evermr | 3R 8, fbog @eret |l 3 & [Option ID = 8176]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@emwr | 3iR 11 Gleil 3 & [Option ID = 8173]

20) Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of simple interest is 12%.

C. 1000 will become ¥1331 in 3 years at compound interest rate of 10% per annum.

Which of the above statements is/are CORRECT?

foraifeiRaa werll wr frar Hifsru :

A. 5% a1emRot saret bt 52 wr, e forfdra afdr 15 auf 3 goroft 2t sieft 3

B. uop 21fdr 10 adf 3 gorell A siredl 3 AreRvI <iarst &I arftfes g3 12% 3

C. difer aquf & ¥1000, 1331 2 Seen, 10% Arcton aiftfes aagly st &f 52 a=
il fou o1 fraseul 3 3 A IR BI TI6Tl HIfSIE :

[Question ID = 2045][Question Description = S2_qSNz_PG_GP20_Q25]

C only/a@aer C [Option ID = 8177]

A and C only/@ac A siiz C [Option ID = 8178]
B and C only/dqet B siiz C [Option ID = 8179]
A and B only/@aet A siiz B [Option ID = 8180]

A W N -

Correct Answer :-
e Conly/@ac C [Option ID = 8177]

21) Match List | with List Il

Consider the following in the context of the Square of Opposition of Propositions

List | List Il

Propositions Square of Opposition

A. If 'A" is False I. 'A" and 'I' are False

B. If 'E' is True Il. 'E' is False; 'l' is True

C. If 'I' is False Ill. 'E' and 'O’ are True

D. If 'O" is True IV. 'E' and 'I' are Undetermined

Choose the correct answer from the options given below:

el -1 @ 3 -1l 31 Fafera bifSie

et -1 rxeh -1

A. PR ‘A’ I 3 I. 'A" sii? 'I' srerca @

B. 3R 'E' I @ Il. 'E'srrca 3 'I' arca @
C. 3prR 'I' sraca 3 ll. 'E' 3iir 'O a3cax 3

D. 3prR 'O’ 3Ica & IV. 'E' siiz 'I' aiforerifya &

i) feu aru famedl 3 A 8 3R gforu :
[Question ID = 2046][Question Description = S2_qSNz_PG_GP20_Q26]

A-1,B-1l,C-1ll,D - IV [Option ID = 8181]
A-11,B-1Il,C-1V, D - [Option ID = 8182]
A-1I,B-1,C-1l,D - IV [Option ID = 8183]
A-1V,B-1,C-1ll, D - Il [Option ID = 8184]

A w N =

Correct Answer :-
e A-I,B-1l,C-IlIl,D- IV [Option ID = 8181]

22) Name the fallacy committed in the argument
All dogs are mammals.

No cats are dogs.

Therefore, no cats are mammals.

Choose the correct answer from the options given below



ac® A ScarHRI oI ol ferd :

Aeft oA Feorendl 3 3

DI freetl @ar oél 3

3re: oI foreedt Facrems) o8t 3

[Question ID = 2047][Question Description = S2_qSNz_PG_GP20_Q27]

1. Illicit Major/side ame=r [Option ID = 8185]

2. Ilicit Minor/3ide ugr [Option ID = 8186]

3. Undistributed Middle/aifasnfora aq [Option ID = 8187]

4. Existential Fallacy/sif¥araarct 3carsmt [Option ID = 8188]

Correct Answer :-
e |llicit Major/a@e e [Option ID = 8185]

23) From the options given below, pick the CORRECT sequence in the context of constituent parts of inference

213t e it @1 TRIGl, oIS B JHEred P9l B Aol I B3 -

[Question ID = 2048][Question Description = S2_qSNz_PG_GP20_Q28]

1. Hetu, Udaharana, Nigamana, Upanaya, Pratijfia/aq, 3ctavl, fopmre, 3usrr, yfersn [Option ID = 8189]
2. Nigamana, Hetu, Udaharana, Upanaya, Pratijha/fewiel, 3q, 3ee2vl, 3usrl, gferst [Option ID = 8190]
3. Pratijha, Hetu, Upanaya, Udaharana, Nigamana/yfersi, &q, 3uerI, 3e1a2ul, foprrer [Option ID = 8191]
4. Pratijha, Hetu, Udaharana, Upanaya, Nigamana/yferst, &d, 3c1e2vl, 3uorl, foewier [Option ID = 8192]

Correct Answer :-
e Hetu, Udaharana, Nigamana, Upanaya, Pratijia/aq, 3cte2v1, foewiel, 3usrI, yfersn [Option ID = 8189]

24) Match List | with List Il

List | List Il

A. Samanyalaksana I. Intuitive perception of all objects- past, distant and future due to supernormal powers
Pratyaksa generated by meditation

B. JAana Il. When objects are not actually present to sense but are conveyed to it through a special
Laksana Pratyaksa medium

C. Yogaj Pratyaksa lll. Perception of an object which is in contact with sense through previous knowledge of itself
D. Alaukika Pratyaksa IV. The perception of a whole class of objects through a generic property

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

et -1 et -1l
A- |. &r6t 3 Icuce SMfRRIAIG oIftpl @ PRUT Al usrelf @& 9d,
RATITGRICISIOT .
G Ud HIART DI 3[od: YSIISod YeAgl Sidl 3
st
B. siret cigtvr ||l. S/ ugrel ardaa 3 sfogl 3q Iuled o1él 8l afcd v fad
g8t HIEAA D GRI Ydd 3l
C. ApE lll. =it ucref @1 yraghiarur Sl sfogal @ Aud 3 &, s yd -
a8t STIol @ GIRT
3'71%[ IV. ucreit & w3] 9ot @1 geagfiaszor, sufer o amezer A
(3

oif<l feu oru fawedl 3 A A8l 3R gfore :
[Question ID = 2049][Question Description = S2_qSNz_PG_GP20_Q29]

-1, B-1,C-1ll, D-IV[Option ID = 8193]
-1, B-1ll, C-1I, D -1V [Option ID = 8194]
-1V, B-1ll, C-1,D- Il [Option ID = 8195]
-1, B-1l,C-1,D-1V[Option ID = 8196]

HwnN s
> > > >

Correct Answer :-
e A-Il,B-1,C-Ill,D- IV [Option ID = 8193]

25) The example 'sound is eternal because it is caused' represents which of the following Hetvabhasa

‘orec/ eafor forer 3, aRiifes A Icusol fpu S 3 ' W16 Ic1ev, forsaifciRaa 3 fopar 3ramiet A Jag 3 ?

[Question ID = 2050][Question Description = S2_qSNz_PG_GP20_Q30]
1. Ashrayasiddha/sngpnRrg [Option ID = 8197]

2. Svarupasiddha/zawuf¥tg [Option ID = 8198]

3. Viruddha/fawg [Option ID = 8199]

4. Kalatita/wrercdta [Option ID = 8200]



Correct Answer :-
e Ashrayasiddha/smepnfitg [Option ID = 8197]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A good computer networking solution can be very much beneficial for your business.
Reason R: With computer networking, you can cut back on costs and allow for efficient use of resources.

In light of the above statements, choose the correct answer from the options given below

il €1 erol feu a1w 3 1 uop sifdraserat (Assertion A) & wu 3 3l gIRI 3AD BRUT (Reason R) & wu 3 :
sifrperet (A) : U 3res1 BRI slcafdser AicYQlel HUD RMUR @ foru siferemicrId 81 Addr &

@RI (R) : BwRIe? sleafdssr @ AT, TU TPIA BH B2 AD & 2 JATEIGI B BellcuIcd YAIST B2 ADd 3
SR Deoil D 3Iclid H, ofld fGu famcdl 3 A 7 3a= &1 wrRIel Hifsre :

[Question ID = 2051][Question Description = S2_qSNz_PG_GP20_Q31]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) grail =1 & 3l (R), (A) &t 3@t s @ [Option ID = 8201]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) glall 3 & waq (R), (A) &I 3d s oidt & [Option ID = 8202]
. Ais true but R is false/(A) 3= 3, uweog (R) sri=r 8 [Option ID = 8203]

. Ais false but R is true/(A) sri 3, woq (R) =1 & [Option ID = 8204]

A WN -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 311 3 &ii (R), (A) &t 31t == & [Option ID = 8201]

27) Arrange the following optical storage devices in increasing order of their storage capacity.
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below:

foraotifene siiftcaet 3SRUI/TBId0T UMDV DI Iolhl HUSRUT SIHIAT @ dad DA d wraf¥er Hifse :
A. A3

B. i3l - sme.situa

C.sg- 3

il fou s1u freseul 3 A I IR BT a6l HIfSIE ©

[Question ID = 2052][Question Description = S2_qSNz_PG_GP20_Q32]

A, B, C/A, B, C [Option ID = 8205]
B, A, C/B, A, C [Option ID = 8206]
A, C, B/A, C, B [Option ID = 8207]
B, C, A/B, C, A [Option ID = 8208]

’

)

Correct Answer :-
e A, B, C/A, B, C [Option ID = 8205]

28) Given below are two statements
Statement I: Tablet computers have touch screens.
Statement Il: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer from the options given below

off< <1 werer Ry a1 3 :

erel - | : Eqcic BIRI! D URI ca Fajiel Sidr 3

el - |l : v Tacic derez # GBS diar &

SWRRD Doll D Il A, ol Y 318 fawedl 3 A JE Fa2 DI w=ael HIFME :
[Question ID = 2053][Question Description = S2_qSNz_PG_GP20_Q33]

Both Statement | and Statement Il are true/@erm | 3z || Sieit 2i=r & [Option ID = 8209]

Both Statement | and Statement Il are false/@ermr | 3iiz || Staif srRicer & [Option ID = 8210]
Statement | is true but Statement Il is false/@emerl | 311 @ , fboq @eret |l sricr & [Option ID = 8211]
Statement | is false but Statement Il is true/memwr | s3I &, fboq @emwr || A= & [Option ID = 8212]

A W N -



Correct Answer :-
e Both Statement | and Statement Il are true/@ermr | 3iz |l gleif 31 & [Option ID = 8209]

29) Which of the following statements about desktop and laptop computers are TRUE?
A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse

Choose the correct answer from the options given below:

33y 3R duciu derie: & an 3 foatifdpa werel 3 ®lel AT 3 ?

A. siftroar smegfore duciu werie? 3 a9 - DA Usc A <O F3MT BT 3

B. 3¥@ciu aRic a5 32 FTGIART - 53T ol X &

C. 1t 3rwpeiu wexie3l 3 fee - o1 ca - Us dlar 3

D. diudiu waricat &t sgfef Asa @ AT gga & @a uffFeferl # aidt 3

ofid o s1u feeal & A A8 IR BT wRI6T BT :

[Question ID = 2054][Question Description = S2_qSNz_PG_GP20_Q34]

A, B and C only/asaet A, B siiz C [Option ID = 8213]
A, B and D only/d@ac A, B siiz D [Option ID = 8214]
B, C and D only/aaet B, C siiz D [Option ID = 8215]
A, B, C and D/A, B, C siiz D [Option ID = 8216]

A W N -

Correct Answer :-
e A, Band C only/dact A, B aiiz C [Option ID = 8213]

30) Match List | with List I

List | List Il
(Computer Terms) (Examples)
A. Operating system I. Pentium
B. Application software Il. Linux

C. Processor lll. Router

D. Network Device IV. Anti-virus
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

ozt -1 et -l
(PFxIe? u) (3s1520T)

A. sitfest Breca |. afoceaar

B. cftcrddorer dfvcdzR Il. eirzora=1

C. YRR 1. Ize:

D. oicads ¥asa IV. 3¢ - arsza

oif<l feu are fawedl 3 A A8 3R gfore :
[Question ID = 2055][Question Description = S2_qSNz_PG_GP20_Q35]

A-1,B-1V,C-1I, D - lll [Option ID = 8217]
A-11,B-1V,C-1,D- Il [Option ID = 8218]
A-11,B -1V, C-1ll, D - | [Option ID = 8219]
A-1ll,B-11,C-1,D- IV [Option ID = 8220]

A W N -

Correct Answer :-
e A-I,B-1V,C-Il,D-Ill [Option ID = 8217]

31) If the wind speeds increase from 4.0 m/s to 5.0 m/s, the power output from an ideal windmill will increase by a factor
of about

afe udot bt a1fer 4.0 ok / A A ge@2 5.0 /A 3 Skl 3, dl vop sircef udel aadt A grd ol ardl fAegd Icurcol 3 cPMIPI ool d SUId A
gig delt ?

[Question ID = 2056][Question Description = S2_qSNz_PG_GP20_Q36]

1. ~2/.,2 [Option ID = 8221]



2. . 3/~.3 [Option ID = 8222]
3. 4/ .,4 [Option ID = 8223]

4. ..5/.,5 [Option ID = 8224]

Correct Answer :-
e __2/..2[Option ID = 8221]

32) In which year did the first commitment period of the Kyoto Protocol come to an end?

@I QIcIpicl @ usdl Yferagdr wiel oT 3id fapar ad 3 gam ?

[Question ID = 2057][Question Description = S2_qSNz_PG_GP20_Q37]
2011/2011 [Option ID = 8225]
2012/2012 [Option ID = 8226]
2014/2014 [Option ID = 8227]

. 2008/2008 [Option ID = 8228]

A W=

Correct Answer :-
e 2011/2011 [Option ID = 8225]

33) Match List | with List

List | List Il

Disease Mode of spread

A. Cholera I. Lack of water to maintain cleanliness

B. Trachoma Il. Involves water contact but not ingestion
C. Schistosomiasis Ill. Ingestion of polluted water

D. Dengue IV. Requires host

Choose the correct answer from the options given below:

et -1 B e -1l A e i

Rt -1 il

(1) (HRAR @1 adior)

A. s |. Facoar ol @ feéru SteT ®r 3|

B. a1 (Splem) Il. 33731 STet 31 Jud el 3 U 3iaAsfavI ofdl
C. PrRNBrRIR Ill. ggftre stet @1 sicasfgor

D. 331 IV. uruldi &1 srraeradn Bl 3

off fou s1o frpeul 3 3 A IR gforw ¢
[Question ID = 2058][Question Description = S2_qSNz_PG_GP20_Q38]

A-11,B-1Il,C- 1V, D - [Option ID = 8229]
A-1ll,B-1,C-1V, D - Il [Option ID = 8230]
A-1I,B-1,C-1II,D- IV [Option ID = 8231]
A-1,B-1Il,C-1l,D - IV [Option ID = 8232]

A W N -

Correct Answer :-
e A-Il,B-IIl,C-1V,D-I[Option ID = 8229]

34) Which one of the following Sustainable Development Goals (SDGs) is related to sustainable consumption and production
patterns?

forgotferR3aa 3 3 Dot - A1 AenvilRr famrT aga (va St sit) Aenzuii Iusier iz Scurcer @ wu 3 Hdfera 3 ?
[Question ID = 2059][Question Description = S2_qSNz_PG_GP20_Q39]

1. SDG 9/wx st st 9 [Option ID = 8233]

2. SDG 10/wa st st 10 [Option ID = 8234]
3. SDG 11/va st st 11 [Option ID = 8235]
4. SDG 12/va st st 12 [Option ID = 8236]

Correct Answer :-
® SDG 9/uwx St sft 9 [Option ID = 8233]

35) What fraction (%) of the total primary energy used in India is derived from biomass?

$IRA 3 YRIPI &l STrol arell Gzl Yreifdies eif @1 Dot - A1 3 (%) Siarisfer (arRiPIRI) A Icusol dlar 3 ?

[Question ID = 2060][Question Description = S2_qSNz_PG_GP20_Q40]
1. ~32%/~ 32% [Option ID = 8237]



2. ~42%/~ 42% [Option ID = 8238]
3. ~56%/~ 56% [Option ID = 8239]
4. ~22%/- 22% [Option ID = 8240]

Correct Answer :-
® ~32%/~ 32% [Option ID = 8237]

36) What does NIRF stand for?

wol 3115 3R U (NIRF) @ guf o0 a=ir & ?

[Question ID = 2061][Question Description = S2_qSNz_PG_GP20_Q41]

National Institute of Ranking Federation/sloretet sReczie sifw 3fdper Bs39m [Option ID = 8241]
National Institute of Ranking Framework/sigreret sRecz]g sifw 3fcper Baram [Option ID = 8242]
National Institutional Ranking Framework/steretet sRecrigrelet 3feser waraa [Option ID = 8243]
National Institutional Ranking Federation/3lormret sRecgrmeret 3fpar Wsoret [Option ID = 8244]

A w N =

Correct Answer :-
e National Institute of Ranking Federation/sloretet $Recie sifw 3fdper ws39me [Option ID = 8241]

37) The term 'open learning' represent approaches that focus on

A. Opening access to education and training provision

B. Freeing learners from the constraints of time and place

C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and groups of learners
E. Making students free from any educational loads

Choose the correct answer from the options given below:

forgotferRaa 3f 3 RboTuR 21101 BIZA B2t arct IuPEl B 'Hb PR (3iue afsfer) gres gorfar 3 ?
A. Rren a yfdregr @ yraeel ol ugda 3 ool

B. a1 3iiz Ferer &t Hiasii A forgnfRil @1 g don

C. fopofl fafdrse urgRrerat @ o sifeemt siir Feaiavat

D. cufepal iR fOrgimelf 138l @I crciicl P AR YeIel Mol

E. fpeil difdr R 3 feeniRIl @I b don

il feu s1u fareedl 3 A A8 IR D1 WRIet B :

[Question ID = 2062][Question Description = S2_qSNz_PG_GP20_Q42]

1. A, B and C only/daet A, B siiz C [Option ID = 8245]
2. A, Band D only/daa A, B siiz D [Option ID = 8246]
3. A, Band E only/aae A, B iz E [Option ID = 8247]
4. B, C and D only/daet B, C iz D [Option ID = 8248]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8245]

38) In CBCS, Ability Enhancement Courses are of two kinds. They are:
A. Ability Enhancement Compulsory Courses

B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:

CBCS 31 swren JAatlel uIgRIa A yoR D a3 A3 :
A. Adis=rar ather siforart urgaraa

B. wlorer atior siforart urgaraya

C. Aro=rar Hathel dofeus urgaas

D. wloret Jasior dwfcusm urgeayn



E. wlorer Hatlor urgaaat
oifd f&u s1u farpeul 3 A &t IR DI R DI
[Question ID = 2063][Question Description = S2_qSNz_PG_GP20_Q43]

A and B only/d>act A siiz B [Option ID = 8249]
A and C only/@act A siiz C [Option ID = 8250]
A and D only/d@aet A siiz D [Option ID = 8251]
A and E only/dbaet A siiz E [Option ID = 8252]

A W N -

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 8249]

39) Which of the following is a private university?

forgaiferRaa 3 31 ol -1 forsll frafdererr 8 ?

[Question ID = 2064][Question Description = S2_qSNz_PG_GP20_Q44]
1. Anna University/steor faeafdenerr [Option ID = 8253]

2. BITS pilani/faca (BITS) foemoft [Option ID = 8254]

3. Burdwan University/adarer fdafdenerr [Option ID = 8255]

4. IlIT/sms ams ams & (111T) [Option ID = 8256]

Correct Answer :-
® Anna University/sioon fazafdercrr [Option ID = 8253]

40) India has been attracting only a fraction of international students because of
A. Lack of residential accommodation for foreign students

B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below

AR 3 P BRI aga v iR fremeff s 33 3 ?

A. foft BIgl @ feru smarii Aferen o1 spra

B. 3icIR2rcEiR AT DY AUl YgGIol Dol 3 DISolrsit

C. 3rer1 gaer gfpzm

D. forerenl 3 3d1s @I 3|

E. fenff 3 3cme @1 snma

ofid fou a1 fweal & A A8 IR BT wRI6T BT :

[Question ID = 2065][Question Description = S2_qSNz_PG_GP20_Q45]

1. Aand B only/d@dct A siiz B [Option ID = 8257]
2. B and C only/dae B sfiz C [Option ID = 8258]
3. Cand D only/aaet C siiz D [Option ID = 8259]
4. D and E only/a@ae D iz E [Option ID = 8260]

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 8257]

Topic:- GP_25NOV_SH2_C

1) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying



hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

oiid f$u srerior @I eArelgd® ufeu :

MErDAIN B TP AP FRI [ADRIda v difdad Ym19l YgHul AlelfRIg GRI of$ fSectl, dermdl 3R dorcis ®l HRA @ diol A4ifera gaIer yguur
arct oPRI 3 WM SR & 3R &3l YbI91 YguvT bl p1ieil J3r=ar & yfer J3d 3t Sirell aifde of dact RSRIP! Aol @ 18 &3 oo YJART B2 38 3
afed PSRRI & 3EIfst ot  Yap19r YgHul ol dicuRl Dfdd d1eT goTel - RIaz-e @ slfoldRe gud A 3 Sefcs ofepr arer ymrol - <razen &t
IMAYADAT ASDI U= M dGTol D 1w F¢ke ezl @ U 3 Xl 3 31 A6 33l 3R 3 UGol g P Dl A ASRIAI Dl 3, BIcT D BB GIDI 3
af¥gdifft, ylua, gar scnfe @ fo1u st YRIeT ¢ Jel §6 KM 3, SRR YwbIor Yguul &l J3RA1 3cusd aicl 3 31erI6il 3 S0l a1 fBrerar 3
5 20 quf &l srafer 3 g sea 3 a1 crscl A grd dlol arctl Sy 3 ¢ - ¢} gfis 3l o1 3, Rremdl o1 Reehl, Acismen, BRI, Potfed 3R
IR ygor i 1993 A 2013 & dfa "srcafiras gguvr diqar” giy 3xaor o1 frerdt 3

srcaferes GfeEr arar yee1or - caazer A of ddd AN @ IAReA UR dfcd ugl - ufdril iz Hicl & Farea u? iR AR wRiiarur u st o
SRR Yura A & AR B DR arsdl & geieT A At oM A2 UG & Rie Bieal ar el 3 afy Adt 2 uig sad gaa Ak - da’ &
IHRRAT IcUool Bl 3 ST ASDI bl Issacidl BT FHR TRI A YA9I Bldr 3 dl & ollG 3iTol 3 DfSolE Bl 3 AR foIgy - SIPRUI ¢RI UR $ADT YIa
usdl 3, framT sardl Aclicensil a Farer Uz sz Ysid Us Addl 8 dRl @I Yéiuel urail 3iiz Bbict @I oit genfdd mdar 3 ymrer yguur A

The light pollution map is related to adverse effects of
Y19l YgHUI ATGIRI fpad> gferayer yairal 3 Adfdra 8 ?

[Question ID = 2066][Question Description = S2_qSNz_PG_GP20_Q46]
1. Sunlight/3f @1 yeprar [Option ID = 8261]

2. Outdoor artificial light/arer ofepr ymrer [Option ID = 8262]

3. Urban electricity projects/ o fagja uf¥isiems [Option ID = 8263]

4. Rural electricity projects/syefiur fargga uf¥isond [Option ID = 8264]

Correct Answer :-
® Sunlight/3pf @1 yerer [Option ID = 8261]

2) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

oiid fu srenor @I eAreIgdd ufeu :

INED AL D U Mg GRI DRI v dfam gwmr191 YgHul Al SRI o fSoell, deradl 3R J3I DI HIRA @ diel Adiffrd Y19 gguur
drcl PRI 3 31 RN & 3R 33l Y19l Yguul &l PR = & yfer JAd 3l Sitell anfdy of ddact SR Aol & fo1U &3 ole1vI YRIRT &2 1B 3
afed RRRI 3 3EIfdst ot Y191 YguuT ol dicuRl ofdd drer g1l - Iaz-en & sifoldRe Jod A 3 Siafes ofepr arar Yool - <razen &t
MAYABAT ASDI U= M dGTol D 1w Féke ezl @ U 3 2l 3 31 A 33 38R 3 UGol g P Dl A ASRIAI Dl 3, BIcT D TO GIDI 3
afydifft, ydlua, gar scnfe @ fo1e 31T GRIST ¢ Jel a6 KM 3, SRR YabIor Yguul &l IPRAT 3cusd 3l 3 31erI6il 3 S0 a1 fRBrerar 3
5 20 auf &6l srafer 3 g3 sea 3 T arscl A g Jlol arcdl Sy 3 ¢ - ¢} gfis 3l o1 3, Rremdl o1 Reehl, Acisten, ssRISE, wotfed 3z
SR g i 1993 A 2013 & dfa "srcafiras gguvr digar” giy 3o o1 et 3

AT DIFPI S8 Y19l - RIazell A of dddd ARl B IARA UR dice ug) - Uidril ik PIci @ Fared uR 3R AR WRIfaRYI U 3if B
SRR Yura A & AR B DR arsel S YEieT A Ak T Az UgrE & Rie Bre@l ara el 3 afy Adt 2 uig sad gaa Aky - da’ &
IR IcUool Blcll 3 S ASDI DI Issdcidl DI AR TR A Jd9I Il & dl 33 oflG 3ITol 3 DISeIS Bl 3 FHAR foIgl - SIPRUI ¢RI U= 33ABT PRI
usdl 3, RRI®! Al Hellconsii a Fared uz siflz Yera Us Jddl 3 9Pl ®I géiuel u9aii 3iiz bIcl ® off gysufaa oar 3 yaror gyguvur A

One of the major pollutants is in the form of



UP YgRAa Y19l YgHd fp3T U 3 Sat ol firerar & ?

[Question ID = 2067][Question Description = S2_qSNz_PG_GP20_Q47]
1. Indoor lights/3igz &I crs¢ [Option ID = 8265]

2. Street lights/3s® &l cise [Option ID = 8266]

3. Home lights/=a= &t ems¢ [Option ID = 8267]

4. Illuminated advertising/ydla gyarz [Option ID = 8268]

Correct Answer :-
e |ndoor lights/sigz i emse [Option ID = 8265]

3) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night." We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

oii<l fSu srerior ol eareyde ufeu :

oNermalsii & vw AP FRI f[APRIA o> dfad go1or Yguvr Ay SRI off [ecll, wermdr iz dorcs I HRa @ «ilol J@iffrm gyowrer yguur
drcl oPRI 3 M1 SR & 3R 83 YDII YgUUI Dl IPIEH HIR=IT @ Yfel IR 3l SIf6l 13T of ddcl SRIPI Adol @ 18 &3 oleIvI YRR B W 3
qfed PSRRI a3 3M6ifST 31T & YapIor YgHUT ol dlcuRi il S1@T Y9l - RIGAUT B SIHIPR® Y3IId A & SIdicd Dicpl dI@T Y19l - RIaeAT DI
MAYABAT ASDI U2 &M dGTol D 1w Fée ezl & wu 3 2l 3 3iiR As 331 3R 3 Ugol d B Bl 3 ASRIAI Bl 3, BT D TO GIDI 3
afydifft, ydlual, gar scnfe @ 1o 31T YRIPT ¢ Iol d6G KM 3, SRR YbIor yguul &l JRAT 3cusd akidl 3 31erI6il 3 S0 @t Brcrar 3
o5 20 auf &6l sraf?r 3 g sred 3 el anscl A g Aol arcdl S 3 ¢ - ¢ gfig 3l o1 3, Rl of Recll, Aciemen, BRI, wotled iz
Saz ggerd 1993 A 2013 o & "srcaffr gguvr digar” afy; 3ot o1 Rrercht 3

cAfere GieP dI@T Yb19l - Razer A of dddl ARl D IR IR dfcd ug) - ufdril iz HIdl & Farea R iR AR wifaur Uz ff &f
SIforpR® Yarrd B 3 i) B Hicjer arsel o YRileT A 3R D 3R Ugrs @ fore frcrel arar gt & gfy; aicfl 3 uig saad aed "Aafey - da’ b
IHIRT IcUool Bl 8 S ASDI DI Issacidl PI FAR TRI A YAl BT 8 dl &4 oliG 3ol 3 DISoIS BIcll & AR foIgl - SIPRUI ¢RI UR $ADI YHIA
Usdl 3, SRIPI 3R AIGIISIl d FARLA UR iR YA US ADdI & dPll DI YSluel 9l 3iiz dict ol of ganfaa war & Yoror gguur A

Light pollution intensity refers to
Y191 Yguvl cfigar ol arcu=t el 3 ?

[Question ID = 2068][Question Description = S2_qSNz_PG_GP20_Q48]

1. Increased outdoor brightness during night time/ife] @ wrr al &8 wra Sifft [Option ID = 8269]

2. Manifold hike in use of electricity in rural areas/syefivr giqi 3 fsicft @ geier 3t @3 sponr gfis [Option ID = 8270]
3. Use of artificial light for road safety/s® Jpsun @ e ofepr crse @1 it [Option ID = 8271]

4. More and more use of electricity in urban areas/ 9o &iqi 3 fawicht @1 siferpiferes yeiler [Option ID = 8272]

Correct Answer :-
® |Increased outdoor brightness during night time/=ife]y @& w1 adt g arer <iftr [Option ID = 8269]

4) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of ‘loss of night.' We find it difficult to fall asleep when the glow of streets enters our



homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

siid fu srernor @I eAareIgd® ufeu :

INED AL D TP WIPg GRI DRI v dfam gm191 YgHUT Al SIRI of fSoell, deiddl 3R J3Ics DI HIRA @ diol AdifId Y19l Yguur
drcl PRI 3 31 RN & 3R &3l Y19l Yguvul &l PIEd o= & yfer A 3l Sitel anfdu of dact SR Aol & fo1u &3 o1 YRIRT &2 3B 3
afed RPRRI 3 3EIfst ot T Y191 YguuT ol dicuRl Dfde dr@r goIol - RIaz-en & slifoldRe Jurd A 3 Siafes ofepr arar Yool - <razen &t
MAYABAI ASDI U= M dGTol D 1w F¢ie ersel @ U 3 2l 3 31 A 33l 38R 3 UGol g P Dl d ASRIAI Dl 3, BIcT D TO GIDI 3
afgdifft, ylua, gar scnfe & fo1e 31T YRIeT ¢ Iel a6 KM 3, SRR YbIor Yguul &l J3RAT 3cusd akicdl 3 31eRI6il 3 S0l a1 fBrerar 3
5 20 auf &6l srafer 3 g3 sea 3 T arscl A g Jlol arcdl Sy 3 ¢ - ¢} gfis 3l 51 3, Rl o1f Reell, Acisten, BRI, Foifed iz
IR ygor i 1993 31 2013 & e "sicaferas gguur digar” gfy; S¥act ol frercdt 3

rcAfere DIFPT S8 Y19l - Raael A of dddd AWl @ IARA UR dice ug] - ufdril ik PIci @ Fared ur 3R AR UIiaRuI U sff &
SIRIDID Yra A & AR B DR arsel B GEeT A A T IR UG D Rie Bre@l ara el 3 afy Adt 3 uig sad gaa Aky - da’ &
IR IcUool Bl 3 S ASDI DI Isodcidl DI AR R A Jd9I Il & dl 33 oflG 3MIol 3 DISIS Bl 3 FHAR foIgl - SIPRUI ¢RI U= 3BT PRI
usdr 3, RI®! Al Hellconsii a Fared uz 3ifik Yera Us Addr 3 9Pl aI géiuel u9ail 3iiz bIcl @I oft ysnfaa oar 3 garor gyguur A

Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below

DfT yoot1er @ ARG HIRT A IUferd 3ol A AR ______ U Yfrayel YyId USdI 3
A. Rl 3131

B. forgg amy

C. uGr @ W

D. Jelicon a Farea

ofia 3w a1 fawcal 3 A A8 a2 goi :

[Question ID = 2069][Question Description = S2_qSNz_PG_GP20_Q49]

A and B only/dact A siiz B [Option ID = 8273]
B and C only/a@aet B siiz C [Option ID = 8274]
B and D only/dact B sfiz D [Option ID = 8275]
C and D only/dsaet C siiz D [Option ID = 8276]

A w N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 8273]

5) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.



off<l feu srerior ol earoyde uféu :

oNermalsii & v AP FRI [RAIPRIA v dlad go19r Yguvl AlGifIg SR off [eell, wermdr iz Jorc o1 1A @ il J@iffre gowrer yguvr
drcl oPRI 3 31 SR & 3R 83 Y19l Yguvul Ol PIEH =1 @ Yfel I 3l Sifell anfdu of ddac SRI™] Adol @ fé1u &3 ole1vI YRIRT 3 1B 3
qfcd PSRRI a3 IM6IHET 31T & YabIor YgHUT I dlcuRi Dicpl JI@T Y9l - RIAIAUT @ SIHIPR® YIIId A & SIdich Dicpl dIeT Y19l - RIaeAl DI
MAYABAT ASDI U2 IS dGIol @ 1w Fée enmsel & wu 3 Xl 3 3R A 33l 3R 3 UGol a B B! 3 ASRIAI Bl 3, BT D BO GBI 3
afydiffy, ydlual, yar scnfe @ 1o s31pT YRIeT ¢ Iol a6 RN 3, BRI YwbIor Yguur &bl AT 3cuod aidl 3 31erI6il 3 S0l @1 Brcrar 3
o5 20 auf 6t safer d g eed 3 aed anscl A g Aol arcdl Y 3 ¢ - ¢ gfis 31l o1 3, Rl o1f Recll, Acieten, AR, wotled iz
Saz ggerd 1993 A 2013 o & "srcaffr gguvr digar” gfy; 3ot o1 Brerch 3

At GIePT a1t Y191 - aazer A of dddl AR D IR UR dfcd ug) - ufdril iz Hidl & Farea R iR saR wifarur Uz off ¢
BIfSIPR® M 3l & Afe] I Dt crscl o GRIT A AR BHI IR UGl @ feru frero! ara =@l 3 gfy Al 3 u3q =1 aera "Afe) - e’ &t
IARAT IcUool Bicll 3 ST ASDI bl Issactdl DI SR TRI 3 JA9I Bl & dl i ofiG 3ol d DISols Bicll 8 AR fOIGI - SIPIRUI TRI UR $ADI PRI
usdl 3, RRI®I ARl Acllcnsli a FarRed Uz 3iiik Yuid Us Addr 3 dPIl ®I gdiuel 93l 3z dIcl oI ol gsiIfdd war 8 yoarol yguvur A

The loss of night, as mentioned in the passage, will lead to
arerior 3 f3pU 31U IecrE™ @ GRAR AfeY - <y A TR e ?

[Questlon ID = 2070][Question Description = S2_qSNz_PG_GP20_Q50]
More human productivity/sifeie amera 3curgaar [Option ID = 8277]
. Increase in education/fsrgm 3 gfig [Option ID = 8278]
. The altered activities of nocturnal creatures/zife@z Sfidi @ uf¥afefa fagemasema [Option ID = 8279]
. The well-being of human population /e sieRizen @1 dwe=mur [Option ID = 8280]

AWN—\

Correct Answer :-
® More human productivity/siféi® #irera 3curgaar [Option ID = 8277]





